KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13
AGRICULTURE
Time: 3 hours Maximum Marks: 100
Instructions:

1. Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.
2. Please answer all the questions to the point. There are no marks for the length of

nswers.
3. ?’IZasZ Znswer all the questions within the answer booklet. No extra sheets will be
supplied.
PART- A
20x1=20
Answer all the questions on the first page of the answer booklet.
1. What is the causal organism for Red rot of Sugarcane?
2. What is the chemical name of Gypsum?
3. What is the scientific name of Citrus caterpillar or Lemon Butterfly?
4. What is the Casual organism for Leaf-Blight of Rice crop?
5. What is the chemical formula of Urea?
6. What gas from paddy fields contributes to Global Warming?
7. Veins of leaf remain in --------------- colour in Iron and Manganese deficiencies.
8. Expand ICRISAT.
9. What is a pure-line?
10. What is Xenia?
11. What is the metallic element in Chlorophyll ?
12. What is polyploidy?
13. Give two examples for bio-fuel crops?
14. What is Heterosis?
15. Bordeaux mixture was first tried in case of what disease of grape?
16. What percentage of K0 is available in Muriate of Potash?
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17. What is the Botanical name of sandal plant?
18. What is the inter-specific hybrid between wheat and Rye ?
19. What is the C:N ratio of a well decomposed organic matter?
20. What is Water Use Efficiency?
PART -B

(All questions are compulsory. Each question carries 4 marks) — 20 marks
21. Write short notes on any TWO the following.

a. Law of Equi-marginal returns

b. Opportunity Costs

c. Returns to scale
22. Write short notes on any TWO of the following?

a. Sex -linked inheritance

b. Cytokinins

c. Cytoplasmic inheritance
23. Write short notes on any TWO the following

a. Role of Zinc in plant nutrition & metabolism

b. Laterisation

c. Factors that influence soil formation
24. Write short notes on any TWO the following

a. List important forest types of India

b. Food pyramid

c. National Green Tribunals
25. Expand any FOUR of the following.

a. NBPGR

b. IGFRI

c. NWDPRA

d. NAFED

e. TRIPs
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26.

27.

28.

PART-C

(All Questions are Compulsory. Each question carries 12 marks) — 60 marks

a) What are Koch’s postulates?

b) What are the causal organisms, symptoms and control measures for Late and Early
Blights of Potato crop?

OR

a) What are Synthetic Pyrethroids and their significance in pest control?
b) What are Genetically Modified Crops? How are Bt Cotton and Bt Brinjal
developed?

a) What is available moisture in a soil? Explain briefly Gravitational Water, Field
Capacity and Hygroscopic water.

b) What is Cation Exchange Capacity (CEC) and its significance in soil nutrition?
Brief note on the three important Silicate Clay minerals that constitute clay soils?

OR
a) What is Soil Alkalinity? What are the problems of Soil Alkalinity and their
amendments?
b) What is the role of Phosphorous in plants? In what forms phosphorous is mostly
absorbed by the palnts? Why is phosphorous gets fixed in soils? What are the
important phosphatic fertilizers.

a) Explain the Law of Diminishing returns with reference to input-output relationship
in farm production, with graphical explanation.

b) What is Bio-prospecting and Bio-piracy? What are Geographical Indicators (GI) and
give Gl examples under Indian context?

OR

a) What is Participatory Rural Appraisal (PRA)? What are the key features and
methods of PRA?

b) Classify Extension methods according to their use and nature of contact. Explain
some of the important extension methods employed by agricultural extension
workers.
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29.

30.

a) What are Auxins? Write about the practical applications of auxins in
agriculture?

b) Differentiate between C3 & C4 plants? What is the biological significance of
C4 Cycle of photosynthesis.

OR

a) What is bio-magnification with reference to Persistent Organic Pollutants
(POPs) used in agriculture?

b) What are the issues concerning use of Endosulfon as a pesticide? Why is it in
news recently and analyse the problem rationally?

a) What are the reasons for low productivity in Indian agriculture? Analyse the
situation and offer suggestions to increase the productivity ?
b) What are the various Agro-climatic zones in Karnataka state,their
significance and suitable cropping patterns for these zones?
OR
Write important varieties and package of practices for Sunflower and Cotton
crops in Karnataka state?
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KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13

BOTANY

Time: 3 hours Maximum Marks: 100

Instructions:

1.

Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.

Please answer all the questions to the point. There are no marks for the length of answers.
Please answer all the questions within the answer booklet. No extra sheets will be
supplied.

PART- A
20x1=20

Answer all the questions on the first page of the answer booklet.

el A

10.
11.

12.
13.

14.

Bicollateral vascular bundles are found in family.
is the edible part in Jack fruit.

Fungi, without sexual or perfect stages, are classified as
Some codons do not specify aminoacids and are known as ‘non-sense codons Name
them.

For the first time, experimentally demonstrated that only DNA of the
bacteriophage enters the host cell and not the phage protein.

The diploid chromosome number of the garden pea is 2n = 14. How many different
trisomics could be formed in this plant?

The first academic publication about the ‘ecological footprint” was made by in
1992.
A minimum of meiotic divisions are required to form 100 sexual seeds.

type of inflorescence is found in Banana.
Dee-geo-woo-gen is the name of a variety of :
Grewia heterotricha, Hopea canarensis, Pterospermum reticulatum and Vepris
bilocularis, are some of the endemic plant species of Western ghats in Karnataka. Name
the plant out of them which is not a tree.

The protein present in the pollen wall causes allergy.

is the most primitive family among monocots according to Hutchinson’s
system of classification.
Citrus canker is caused by




15. Carbon dioxide, Methane and Nitrous oxide are some of the green house gases. Which of
these gases has the highest global warming potential?

16. Name the person who is considered as ‘Father of Botany’.

17. The endosperm development in monocots is generally helobial. Name the monocot genus
showing cellular endosperm.

18. chemical is used to convert iron into absorbable form by plants.

19. The mineral element responsible for photosynthetic evolution of oxygen is

20. The product arising out of the fusion between a protoplast with a nucleus and a protoplast
without a nucleus is called

Il Write short notes on any FIVE of the following: 5x4=20

21. Kranz Anatomy

22. Double Fertilization

23. Medicinal Plants

24. Angiospermic features of Gnetum

25. Photoperiodism

26. Totipotency

27. Phytogeographic regions of Karnataka

[11 Write an essay on any FIVE of the following: 5x12 =60

28. Calvin’s Cycle

29. Bentham and Hooker system of Classification

30. The process of normal secondary growth in a dicot stem with a note on growth rings
31. Gene concept

32. Impact of environmental pollution on vegetation

33. Reproduction and ecological significance of Lichens

34. Biodiversity hot spots of India
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KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13
CHEMISTRY

Time: 3 hours Maximum Marks: 100

Instructions:

1.

Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.

Please answer all the questions to the point. There are no marks for the length of answers.
Please answer all the questions within the answer booklet. No extra sheets will be supplied.

PART- A (1 mark to each question)

Please answer the twenty questions on page 1 of the answer booklet by writing the answer
(option) that you find to be most complete and correct.

1.
2.

Arrange the following in increasing order of acidity:- HF, HBr, HCI, HI
The 1*C dating method is generally not used for dating organic substances older than
~60,000 years because-

a) such substances rarely contain carbon.

b) such substances accumulated *“C after their formation.

c) in those times, there was not production of 1*C.
d) most of the 2*C in the sample would have decayed

Dispersion of a solid in a liquid, a liquid in a gas and a liquid in a liquid are respectively
known as

a) aerosol, emulsion, sol

b) sol, aerosol, emulsion

c) emulsion, sol, aerosol

d) aerosol, sol, emulsion

Among the following, the amino acid which is basic in nature is
a) tyrosine b) asparagine c) leucine d) arginine

The correct set of the essential micro-nutrients for plants is
a) Fe, Mo, Cu, Zn b) Fe, Cu, Co, Au ¢)N,P,K,Zn d)Fe, Ru, Zn, Mg

Among the three types of orbitals p, d, and f,
a) both p and f orbitals have centre of symmetry.
b) both p and d orbitals have centre of symmetry.
c) only d orbitals have centre of symmetry.
d) forbitals alone have centre of symmetry.

The only molecule having a bridging oxygen is
a) Phosphorus trioxide
b) Phosphorus pentaoxide
¢) Cyclic tetraphosphate
d) Pyrophosphate



10.

11.

12.

13.

14.

15.

Ozone (Os) absorbs UV radiation in the atmosphere and is decomposed mainly into

a) Oz, O

by 0,0

C) (o7} o, O+

d) atomic oxygen

Among dimethylcyclobutanes, which one can exhibit optical activity?
a) cis-1,2-dimethylcyclobutane
b) trans-1,2-dimethylcyclobutane
c) cis-1,3-dimethylcyclobutane
d) trans-1,3-dimethylcyclobutane

Natural sugars and amino acids are predominantly
a) D-sugars and L-amino acids
b) D-sugars and D-amino acids
c) L-sugars and D-amino acids
d) L-sugars and L-amino acids

The strongest superacid among the following is a
a) solution of HNO3 in H,SO4
b) solution of HCIO,4 in H,SO4
c) solution of SbFs in HF
d) solution of SbCls in HCI

Match the following:

Name of compound Type
1. Progesterone i. Anti-ulcer compound
2. Amoxicillin ii. Anti-allergic
3. Morphine iii. Anti-bacterial
iv. Hallucinogen
v. Hormone
a) 1—-i,2—1iv,3—1i
b) 1-v,2—1iv,3—ii

c) 1-v,2-iii,3-1iv
d 1-i,2-1iv,3-v

Vinegar contains acid which is
a) Formic

b) Acetic

c) Propionic

d) Butic

Enormous amount of energy released in an atomic explosion is due to conversion of

a) neutron into protons

b) protons into neutrons

c) chemical energy into heat
d) mass into energy

The entropy of a perfect crystalline solid at absolute zero is

a) zero

b) positive

C) negative

d) may be positive or negative depending on the atmospheric pressure



16.

Which of the following is used as anti-knocking substance
a) Sodium chloride

b) Tetra methyl lead

c) Tetra ethyl lead

d) Chlorofluoro carbons

17.  Acetyl salicylic acid is often used as
a) Explosive
b) Tear gas
c¢) Chemical fertilizer
d) Paint
18.  Which of the following makes the terminals of a dry cell
a) zinc - aluminium
b) copper - carbon
C) zinc - carbon
d) zinc - copper
19. For which of the following processes does the entropy of the system DECREASE?
a) Melting of ice.
b) Dissolving table salt in water.
c) Decomposition of liquid H,O; to produce liquid water and oxygen gas.
d) Precipitation of AgCl from a solution containing silver ions and chloride ions.
e) The entropy of the system increases in all of the above processes.
20. Curding from milk, an enzyme-catalysed reaction, is most efficient around
a) 0°CandpH>10
b) 25°C and pH <4
c) 0°Cand4<pH<10
d) 25°Cand4<pH<10
PART-B
Answer ALL questions. Each question carries 4 marks: (5x4 = 20)
21. Explain any four of the following -
i.  Zn, Cdand Hg are normally not regarded as transition elements.
ii.  Ethers possess a net dipole moment even if they are symmetrical in structure.
iii. NHs; is more basic the PH;.
iv.  Trimethylamine is strongly basic while trisilylamine is a weak base.
v.  Of the noble gases only xenon is known to form real chemical compounds.
22. Explain any four of the following-

i.  Carboxylic acids have higher boiling points than alcohols of comparable
molecular weights.

ii. H"isahard acid while H" is a soft base.
iii.  KMnO4 shows an intense pink colour, while KReO4 is colourless.

iv.  Copper () iodide is a stable species, while coppe(ll) iodide does not exist.
v.  Carbohydrates are optically active.



23.

24,

25.

Explain homogenous and heterogenous catalysis with a suitable example for each.
OR
Write a note on Dipole moment. Why is the dipole moment of BF3 zero?

Briefly explain the following process :
i.  Isothermal process
ii.  Adiabatic process
iii.  Isobaric process
iv.  Isochoric process

OR

Draw chair formation of cyclohexane indicating axial and equatorial bonds. Why is the
chair form of cyclohexane more stable than the boat form?

What is difference between any four of the following-
i. ASolanda Gel.
ii. Resonance and Tautomerism.

iii.  LDPE and HDPE.
iv.  Nucleotide and nucleoside.
v.  Electrophile and Nucleophile.

PART-C

Answer ALL question. Each question carries 12 marks. (12x5 = 60 marks)

26.

217.

28.

29.

30.

Describe various kinds of crystal defects with suitable examples.

OR
State the Raoult's law. Give the differences between ideal and non-ideal solutions. Draw
the labelled diagrams for liquid and vapour composition curves for ideal and non-ideal
solutions.

What do you mean by quantum numbers? Discuss various types of quantum numbers and
their significance.
OR
Why is the separation of lanthanides so difficult ? Mention two important methods
for their separation.

Explain geometrical isomerism with suitable examples.
OR
What is Jule-Thomson effect ? Explain its importance in the liquification of gases.

What are SN* and SN? reactions? Explain with suitable examples.

OR
Explain the concept of aromaticity, anti-aromaticity and homo-aromaticity with suitable
examples.

What are carbohydrates? How are they classified? What are the main chemical differences
between Glucose and Fructose?

OR
Define hybridisation of orbitals. Explain the shape of the SFs molecule on the basis of
hybridisation.



KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13
FORESTRY-I

Time: 3 hours Maximum Marks: 100

Instructions:

1.

Please keep your mobile phone and other gadgets away. Failure to do so can result in cancellation of
your candidature.

Please answer all the questions to the point. There are no marks for length of answers.

Please answer all the questions within the answer booklet. No extra sheets will be supplied.

PART- A
20x1=20

Answer all the questions on the first page of the answer booklet.
1. Fill in the blanks.

1.

10.

11.

When the number of trees falls below 125 per hectare, top height becomes synonymous with

A clearing made by cutting and burning forests, in which forest trees are raised in combination with
field crops is

Large number of branches produced on a bole of the tree due to shock and sudden exposure from heavy
thinning are

is the percentage which have germinated up to the time
when the number of seeds germinating per day has reached a peak.

is a real trace element which participates in the fixation of nitrogen in root
nodules.
, are the growth hormones that help in breaking seed dormancy.
are the first colonisers on fresh gravel and sand deposits in Riverine
succession.
The use of large stem cuttings is largely practiced in species in Mandya district.
is the popular International Journal of Forestry and Forest Products published by
FAO.
An is a group of plants of similar genotype that occupy a specific ecological niche.
is the ratio of total genetic variation in a population to the

phenotypic variation.



12.1In 1976, reported that for ecological consideration the area under forests in India
should be at least 33 per cent.

13. soils are found in depressions in the alluvium of the Brahmaputra valley.

14. The scientific name of the popularly known as Bheema Bamboo is

15. The rotation of Teak under selection system is years.

16. The Central Board of Forestry was constituted in to provide policy guidelines for forest
management in the country.

17. is the study of life history and general characteristics of trees and crops with
particular reference to environmental factors.

18. states that a minimum quantity of every essential element is
necessary for the growth of an organism.

19. are non-vascular plants without perennial under ground or above ground
stems.
20. refers to the soils inherent susceptibility to erosion by rainfall and runoff.
Part B :
Il. Write short notes on any five of the followings. 4 marks X 5 = 20 Marks

21. Climax Forest

22. Crown Thinning

23. Linear Tree Increment Plots

24. Importance of source of seed in tree improvement program.
25. In situ Conservation

26. Carbon-Nitrogen Ratio

27. Classification of Agro-forestry Systems

Give detailed description on any five of the following. 12 marks X 5 = 60 Marks

28. Give a detailed description of the reclamation of denuded hills with special emphasis to dry zones of
Karnataka.

29. Describe Seed production areas and seed orchards.

30. Describe Silviculture of Melia dubia, Pterocarpus marsupium, and Dendrocalamus strictus.

31. Describe Shelterwood systems.

32. Describe various forest types occurring in Karnataka as per the Champion and Seth’s classification.

33. What is Elite tree? Describe the procedure of selection of plus tree in Tectona grandis.
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KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13

FORESTRY-II

Time: 3 hours Maximum Marks: 100

Instructions:

1. Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.

2. Please answer all the questions to the point. There are no marks for the length of answers.

3. Please answer all the questions within the answer booklet. No extra sheets will be supplied.

PART- A

Answer all the questions on the first page of the answer booklet. 20x1=20

I. Fill in the blanks.

1.

10.

11.

12.

Realising the importance of forests for the well-being of the nation, the Parliament, by the
42" Amendment to the Constitution, brought Forests and Wildlife on the Concurrent List
in the year

If the calorific value of a particular species of wood is 5000 calories, then one gram of
that wood under complete combustion will raise the temperature of grams of
water by 1°C.

is an ideal timber for Rifle parts and Gun stocks.

The species in Alstonia scholaris derives its name because

is the most important cause of damping off in forest

nurseries in India.
Reserved Forests are constituted u/s of Karnataka Forest Act 1963.
Tiger Reserves are constituted u/s of the Wildlife (Protection) Act 1972,

Pulp of the Cassia fistula pods is used throughout India as a

Quinine extracted from the bark of Cinchona ledgeriana is used for treating

Presence of in teak forests facilitates increase of Hyblaea puera,
teak defoliator, as it is an alternate host plant.

Lifting of seedlings above their normal soil level as a result of the expansion of the soil
mass, following freezing of the soil water is
UNFCCC stands for




13.
14.
15.
16.

17.

18.
19.

20.

REDD stands for

Pangolin is listed in Schedule of the Wildlife (Protection) Act 1972.

table gives the heights of the trees directly.

percentage of sampling intensity is recommended for tropical moist deciduous
forests to keep sampling error less than 10 per cent.

per cent of the NTFP revenue goes to the Village Forest Committees in Karnataka
under JFPM.

Eco-sensitive Zones around Protected Areas are being declared under Act.

The ambient air quality standards in respect of noise in residential area during day time is
dB.

is the largest butterfly of our country.

PART-B

I1. Write short notes on any FIVE of the following. 4 marks X 5 = 20 Marks

21.

22.
23.
24,
25.
26.

Peculiarity of Forestry Enterprise when compared with Agriculture or any Industrial
Enterprise.

Choice of the Kind of Rotation.

Point Sampling.

Evaluation of Services.

Improved Wood.

Carbon Footprint.

27. Counter-firing as a method of extinguishing forest fire.
Give detailed description on any FIVE of the following. 12 marks X 5 = 60 Marks
28. What is Yield Regulation? Describe Von Mantel’s method of yield regulation in Regular

29.
30.
31.

32.
33.
34.

Forests.

Describe the measurement of height of a leaning tree.

Give detailed account of Tans and Dyes.

What are the various causes of illicit felling in forests? Give preventive and remedial
measures,

Explain the role of Forests and Biodiversity in mitigation of Climate Change.

Write an Essay on Judicial Activism and conservation of Forests and Wildlife.

Causes of Human — Animal Conflict in Karnataka and suggest mitigation measures.
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KARNATAKA FOREST DEPARTMENT
Range Forest Officers Recruitment 2012-13

MATHEMATICS
Time: 3 hours
PART-A

Please answer all the twenty questions on page 1 of the answer booklet.

1

1. The n'" derivative of is

3x+2
| (-Dn! 1) o™
3tn ! —-1)n!3" -1) nl -1) n!3
e e TR d e P Bl
@) GBx+2)™" (b} (3x+2)™" (©) (Bx+2)™" () Bx+2)"™
TR s O G i
2. Ifu-z +x+y therwco%cﬂtyay+z(,iz =
(a) 1 (b) 24 {c) O (d) 34
w
L
3. JZsin xdx=
641 631 631 641
(@)= (b == L =
IR A |
4. Therarkof matrix |1 1 1| is
1 [ |
{(a)3 (b) 2 ()1 (d)9
5. The direction cosines of the line joining (3, -1, 2} and (1, 2, -1) are
T L g (e Wl o)l 2 2 it . &
N2zt yz2’ 221 V2z' 22’ V22! V22’ V22 72 22’ V22’ V22
6. Equation of sphere described on the join of (2, -3, 4) and -5, 6, -7 is
(a) x* +y%+ 2% +3x+3y +32-56=0
(b) x* +y? + 2% +3x-3y+32-56=0
(c) x2+y?+22-3x+3y+32-56=0
(d) x2 +y% + 2% +3x—3y—-3z-56=0
7. The number of generators of the cyclic group of order 60 is
(a) 18 (b) 14 (c) 16 (d) 12
8. The envelope of the family of lines y =mx + % when m is a parameter is
{B) ¥y =dax (b) y? = ~4ax (c) x% = 4ay (d) x? = —4ay

{Marks: 100)

(1 mark each).

9. The necessary and sufficient condition for the equation M dx + N dy = 0 to be exact is

aM | N _ aM AN _ aM | ON _
StHE=0 bBIF-Z=0 @¥+Z=0 (@

(a)

ax

GM__

aN _

ay_

0



10. Which of the following is an illipsoid

2 z2 2 2

BS+5+5=1 b5+5-5=1 ©5-5-5=1

b? = c?

11. The locus of the points which are equidistant from the points A{-1, 2, 3) and B(3, 2,1} is

(a) 2x—z=0 (b) 2y+z=0 (c) 2x+2z=0 (d) x+2z=0

12. For the matrix A = [_31 ;] the characteristic equation is

(@ 22 +X2=5=0 (b) N2=A=5=0 () M+2X6=0 (d)N¥—-2A+10=0

13. The sign values of the matrix [; ;] is

(@) (4, 1) (b) (4,-1) (c) (1,2) (d) (4,3)

14. The distance of the point (1, 1, -1) from the plane x+2y+2z =9 is

(@) 5 (b) = (© 3 @ 3

15. f:x‘*vaz —x% dx =

adm a‘n atn abn
ciEe W (e} = \e)
16. Which is correct expression for A%y,
(@) ya+3y2+3y1 4y, (b) ys+3y, —3y1+Y,
(c) ys—3y2 = 3yi+Y, (d) y3—3y2 +3y1— Yo
17. The equation of yz plane is
(a) y=0 [y z=0 (cyx=0 di ¥=0,2=0
18. If w is an imaginary cube root of unity then the value of (:) (_(3 af is
W 1w

(a)1 (b) O {c)-1 (d)i

3 4 RIS
19. What is the order of the differential equation (g) + (EZ) + (ﬂ) +y=0

dx dx3

(a)1 (b) 2 (c)3 (d) 4

20. Limit {(4"-3") isequalto
n—0 (4" +3")

(a) 1 {b) -1 (c)

Wl
a
i
|



PART ~-B

Answer all questions of this part. {4 marks each)
21. a) Find the value of ™ for which the following system has a non-trivial solution

2X—-y+2z=0
3x+y—-z =0
Ax—2y+z:0

OR
b) Find the n'" derivative of e Sin (bx + ¢)

22. a) Verify the Cayley - Hamelton theorem for the matrix A = B ﬂ

OR

b) Show that the multiplicative group of fourth roots of unity is a cyclic group.

23. a) Find the angle between the radius vector and the tangent for the curve cardioid
r=a(l+cosf)

OR

b) Show that for the curve r= a @ the polar sub tangent varies as the square of the radius
vector.

24. a) Prove the theorem that congruence modulo H” is an equivalence relation.
OR

b) Find the limit of the following sequences whose n™ term is given by

(1a, = 1°+2°+ 3%+ n’
n3

(2)a, = 12+2°+3%+..... n’

It gty n’

25. a) Discuss the convergence of the series

1 1 1
+ +
Vi+/2 VZ+V3 V3R

OR

b) Find the radius of curvature at any point for the curve x = a cos’t, y=asin’ t

PART-C
Answer all questions of this Section (12 marks each)

26. Answer any two of the following questions for 6 marks each.

(1) Find the equation of the plane through the inter section of the planes 2x+y +3z~4=0,
4x—y+2z-7 =0 and perpendicularto the planex+3y-4z+6=0

s

[2) If 1, = f;’ Tan" x dx then prove that I, 1,;, = —

=1



(3) Show the minimum value of x> + y* + 2’ subjected to the condition %'i‘ i + é = 1is27.

27. Answer any two of the following questions for 6 marks each.

(1) Find the orthogonal trajectories of the cardiod r=a(l-cos#)

. . 5 7 9
(2) Find the sum of the series T + e + T

{3) Find the differentiability of the function f(x) defined by

fix)= ] x*cos i forx+= 0
0 forx=0

atx=0

28. Answer any two of the following questions for 6 marks each.

(1) Show that a rectangular solid of maximum volume which can be inscribed in a sphereisa
cube.

2x+3 forx <1
@) Iff(x}"{ﬁ—xforx =1
Find lim,_,, f(x) if it exists.

(3) Show the equation of sphere passing through the origin and making intercepts a, b, c on the
coordinate axis is

X +y’+2’ —ax—by—cz=0

29. Answer any two of the following questions for 6 marks each.
(1) If R is a ring such that a® = a V a € R then show that

(a) the additive inverse of each element of R is itself
(ba+b=0 =) a=b

(c) R is a commutative ring.

(2) For the surface z = x* + y* find the unit normal and the equation of tangent plane and the
normal line at (1, -1, 2).

(3)50!ve%——2%+4%—8y= 0

30. Answer any two of the following questions for 6 marks each.
(1) Find the volume common to the cylinder

)(2+y2=a2 and X +z'=a

(2 Evaluate [7 [ x( 4y dy  dx)

(3) Evaluate | (Z)* dz around the circle |z| = 1

* & ¥k



KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13

PHYSICS
Time: 3 hours Maximum Marks: 100

Instructions:
1. Please keep your mobile phone and other gadgets away. Failure to do so can
result in cancellation of your candidature.
2. Please answer all the questions to the point. There are no marks for length of

answers.
3. Please answer all the questions within the answer booklet. No extra sheets will

be supplied.

PART- A (1 mark to each question)

Please answer the twenty questions on page 1 of the answer booklet by writing the
answer (option) that you find to be most complete and correct.

1. A torque of 2.01 x 10 ~* Newton-meter has been applied to a rotating body to
produce an angular acceleration of 4 radian/sec®
The moment of Inertia of the body in Kg-m? is:

() 5x 10 * (b) 0.5 x 10 ~* (c)4x10* (d)2x10*

2. If ge and g, denote the acceleration due to gravity on the surface of the earth and
on another planet whose mass and radius are twice that of earth, then,

(a) gp=geV2 (b) 9p = 2g. (C) Op = Qe X ¥ (d) V2 gp=0ge

3. Poission Ratio expresses relationship between

(a) Tangential stress to shear strain
(b) Normal stress to tangential strain
(c) Lateral strain & longitudinal strain
(d) Normal stress to volumetric strain

4. Mean free path of a molecule of a gas is

(a) Directly proportional to the pressure of the gas.
(b) Inversely proportional to the square of the diameter.
(c) Inversely proportional to the temperature of the gas.
(d) Inversely proportional to the square of pressure.

5. The slope of isothermal (A) and adiabatic (B) curves are related as

@ A=B (b) A=yB (c) B=yA (d B=%A
(where y is the ratio of specific heat)



6. If Tiis the temp of inversion; Tc is the critical temperature and TB is the Boyle’s
temperature for a gas then

(a) Te<Tc<Ti (b) Ti>Tg>Tc (C)Tc>TB>Ti (d)TB>Ti>TC

7. The Velocity of sound waves in moist air changes due to decrease in

(a) temperature  (b) density  (c) pressure (d) pollution

8. The intensity of a progressive wave refers to

(a) The speed of wave with which it travels
(b) The energy transferred by the wave

(c) The sound of wave

(d) None of the above

9. During the phenomenon of interference of two waves the total energy

(a) is enhanced (b) is reduced (c) remains the same (d) diminished

10. The colours which appear when white light is incident on a thin film depend upon,

(a) Thickness of the film and angle of inclination

(b) Thickness of the film and temperature of the film
(c) Material of the film

(d) The intensity of light.

11. As per Rayleigh criterion for resolution if the central maxima of wave A (wave
length ) coincides with the first minima of wave B (wavelength +d ) and
vice-versa the resultant intensity curve at the middle of central maxima of A and
B would show:

(a) 4 times increase  (b) 2 times increase  (c) a slight dip (d) no change

12. For a negative uniaxial crystal the velocity of extraordinary ray at right angle to
the direction of the optic axis is

(a) Minimum (b) Maximum
(c) Same as that of ordinary ray ~ (d) None of the above.

13. In a semiconductor diode, the barrier potential offers opposition to only

(a) majority carriers in both regions
(b) minority carries in both regions
(c) free electrons in the N region.
(d) holes in the P region.

14. A piece of copper wire is divided into ten equal parts which are connected in
parallel. The joint resistance of this combination would be equal to the original
resistance of the piece of wire, multiplied by a factor of

(@) 1x 10 2 (b)1x 101 (c) 1 x 10? (d) 110



15. As per Bohr’s atom model only those orbits are possible (in which an electron can
move around the nucleus), for which plank’s constant has a relationship with

(a) The charge of the electron

(b) The number of electrons in the orbit

(c) The angular momentum of the electron.
(d) The radius of the orbit.

16. The velocity of a particle at which its mass is double of its rest mass is

(a) 4c ® 7 © BAxc (@ e

17. The direction of induced electromagnetic force in a circuit is

(a) such that its supports the cause.

(b) such that it opposes the cause.

(c) has no connection with the movement of cause.

(d) has a relation with the cause only in special directions.

18. Inan LCR, AC circuit, the impedance of the circuit at resonance is
(@ maximum  (b) minimum  (c) maximum X %2 (d) vz X maximum
19. The forbidden energy gap in semiconductors

(@) lies just below the valance band.

(b) lies just above the conductive band.

(c) lies between the valance band and conduction band.
(d) is the same as valance band.

20. The dual nature of wave and particle was explained by

(a) Hall effect  (b) De Broglie (c) Bragg law  (d) diffraction of x-rays.

PART-B

Answer any FIVE of the following questions. Each question carries 4 marks
(The derivation details to be given) (5x4 = 20)

21. If the earth suddenly contracts to half of its present radius the length of the day
would be how much (in hours).

22. 80 gms. of water at 20°C is mixed with 120 gms. of water at 50°C. Find the
resultant increase in entropy. Take specific heat of water = 1.

23. Explain the method to determine the thickness of a thin sheet of transparent
material using biprism.

24. Prove that the De Broglie wavelength of an electron accelerating through a
potential difference of V volts is inversely proportional to the square root of the
potential difference.



25. What is a Bohr magnetron? Calculate its magnitude.
26. State Bragg’s law and explain its utility in the study of solids.

27. Explain Raman effect. How Raman spectra are different from fluorescence
spectra.

PART-C
Answer any FIVE of the following question. Each question carries 12 marks.

(12x5 = 60 marks)

28. (a) Define:- (i) centripetal force (ii) centrifugal force and (iii) corioli’s force.

(b) A solid sphere of mass M and radius 2R rolls without sliding with a uniform
velocity of V m/sec along a straight line on a horizontal table. Find its total
energy.

29. (a) Explain the concept of degree of freedom and principle of equi-partition of
energy.

(b) Derive the value of y (ratio of specific heats) for monoatomic gases.

30. (a) Explain the phenomenon of resonance and variation in amplitudes of resultant
waves.

(b) A sonometer wire, 100 cm. in length, has a fundamental frequency of
34c/sec. Find out the velocity of propagation of transverse wave along this
wire.

31. (a) Explain the concept of plane, circularly and elliptically polarized light.

(b) The rotation in a plane of polarization (= 5893A°) in a certain substance is
10%/cm. Calculate the difference between the refractive indices for right and
left circularly polarized light in the substance.

32. (a) Compare gravitational, electromagnetic and nuclear forces.

(b) State and explain the derivation of Einstein’s Photo electric equation.

33. (a) State the concept of superconductivity, critical temperature and Meissuer
effect.

(b) A metal rod of length L rotates in a uniform magnetic field B with an angular
velocity w. Calculate the e.m.f. developed between the two ends of the rod.

34. (a) State basic postulates of special theory of relativity.

(b) State Lorentz transformation equations and explain their consequences.
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Instructions:

1.

Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.

Please answer all the questions to the point. There are no marks for the length of
answers.

Please answer all the questions within the answer booklet. No extra sheets will be
supplied.

PART- A
20x1=20

Answer all the questions on the first page of the answer booklet.

© N o v

10.

11.
12.
13.

is a genetic disorder of humans which occurs due to criss-cross

inheritance of recessive genes.

In a shallow lentic habitat, zone is most productive.

Webbed neck and sexual infantilism are the characteristic features of

snake has loreal pits that help it in tracking down warm-blooded

animals even in pitch darkness.

chemical helps to breed fish in artificial conditions.

In centipedes are modified into poisonous claws.

The drug ‘cantharidin’ is produced from the dried bodies of beetles.

Down the South, Wallace’s line passes between the islands of and

An Indian vector for Leishmania donovani

Species which are closely related, morphologically similar, reproductively isolated,
live in sympatric populations are designated as :

Yolk sac placenta is found in

is a simple water soluble globular protein molecule.

Thermoregulatory centre in mammals is located in




14.
15.
16.
17.

18.

19.
20.

Urinary bladder is absent in all birds, except

The classification of Reptiles is based on the presence or absence of

Presence of foramen of Panizzae is an important characteristic of

A primitive mollusc, , represents a sort of connecting link between
Annelida and Mollusca.

Peritrophic membrane is associated with a part of the digestive system in

If a cell is subjected to ionizing radiations, mutation is likely to occur.

A deletion in the short arm of chromosome 5 produces in humans a genetic disorder
called

I1 Write short notes on any FIVE of the following: 5x4=20

21.
22.
23.
24,
25.
26.
217.

Ecological pyramids.

Parasitic adaptations of Ascaris.
Lysosomes.

Flightless birds.

Environmental biodegradation.
Lamarkism.

Surrogate mother.

I11 Write an essay on any THREE of the following: 3x20=60

28.

29.
30.
31.
32.

Enumerate the general characters of Phylum Arthropoda and give the classification up
to Classes with examples.

Structure and functions of DNA.
Evolution of Man.
Wildlife Policy and Legislation.

Describe the structure of multipolar neuron and explain the propagation of nerve
impulse along a nerve fibre.
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. Boric acid (commonly called Boric powder) is most commonly used as a/an —

(A) Antivenin
(B) Antiserum
(C) Antibiotic
(D) Disinfectant
(E) Antiseptic

. Of the following three statements,

(1) Elephants cannot sweat as they have no sweat glands.
(2) The saliva of gecko (house lizard) does not contain any venom, and,
(3) Snakes cannot drink milk.

The correct statements are
(A) Only 1 and 2

(B) Only 1 and 3

(C) Only2and 3

(D) Neitherof 1,2 and 3
(E) Allthatis 1,2 and 3

. Vermicompost is a/an —

(A) Toxic biochemical
(B) Synthetic fertilizer
(C) Inorganic fertilizer
(D) Organic fertilizer
(E) Industrial byproduct

. In “Wildlife Conservation” which of the following holds best for “endemic species” ?

(A) A species having been reduced to a critical number due to natural causes.

(B) A species having small population but impacting the population of some other species
to a very great extent.

(C) A species that forms the focus of conservation in wildlife sanctuaries.

(D) A species found in a particular region and nowhere else in the world.

(E) A short form of endangered species.

. “Cloves” are obtained from which part of the plant ?

(A) Root hairs

(B) Flower buds
(C) Tendril tips

(D) Leafends

(E) Immature thorns
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10.

11.

When a electric heater of power rating 2000 watts and a grinder of power rating
1000 watts are used in a house, which of the following statements is correct ?
(A) Voltage drop across heater is more than grinder.

(B) Voltage drop across grinder is more than heater.

(C) Electrical resistance offered by heater is less than that by grinder.

(D) Electrical resistance offered by grinder is less than that by heater.

(E) All the four statements made above are wrong.

Animal population growing unhindered across time will correspond closely to a/an-
(A) Arithmetic series

(B) Binomial series

(C) Harmonic series

(D) Geometric series

(E) Logarithmic series

. The eyesight of a myopic person can be corrected using a/an —

(A) Convex lens doublet
(B) Achromat convex lens
(C) Cylindrical lens

(D) Convex lens

(E) Concave lens

The phenomena of light that causes us to see stars in the night as twinkling is —
(A) Refraction

(B) Reflection

(C) Interference

(D) Total internal reflection

(E) Radiation

Which of the following is an example of vestigial structures in human bodies ?
(A) Wisdom tooth and Vermiform Appendix

(B) Wisdom tooth and Gall bladder

(C) Gall bladder and Vermiform Appendix

(D) Spleen and Wisdom tooth

(E) Spleen, Wisdom tooth and Vermiform Appendix

)

)

)

Pulses are regarded as a rich source of —
(A) Vitamin D

(B) Carbohydrates

(C) Fats
(D)
(E)

E) Proteins

@
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12.  Which of the following is an organic compound ?
(A) Diamond
(B) Carbon monoxide
(C) Acetic acid
(D) Calcium carbonate
(E) Calcium carbide

13. Which of the following is the nearest and closest related cause of “Acid rain” ?
(A) Excess Carbon Monoxide in the atmosphere
(B) Excess Carbon Dioxide in the atmosphere
(C) Excess Sulphur Monoxide in the atmosphere
(D) Excess Sulphur Dioxide in the atmosphere
(E) Excessive Methane in the atmosphere

14. The hardening of arteries in human beings due to deposition of Cholesterol on its
walls is called (a term often used to describe evils of smoking)-
(A) Thrombosis
(B) Stenosis
(C) Hypercholesterolemia
(D) Atherosclerosis
(E) Emphysema

15. A drug that reduces sensation of pain (commonly called pain killer) is a/an —
(A) Antipyretic
(B) Soporific
(C) Diuretic
(D) Analgesic
(E) Decongestant

16. The correct match, the diseases of left column with the body parts/ organs/ systems
they afflict given in right column is —

DISEASE ORGAN/SYSTEM
1. Rhinitis A. Nose
2. Glaucoma B. Liver
3. Pleurisy C. Eye
4. Hepatitis D. Respiratory System
(A) 1A 2D 3B 4C
B)1C 2A 3B 4D
(C)1A 2C 3D 4B
(D) 1C 2D 3B 4A
(Ey1A 2B 3D 4C

A ®
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18.

19.

20.

21.

22.

23.

The full form of the term “BOD” as used in case of describing lake/river water quality is —
) Biochemical Oxygen Demand

Biochemical Oxygen Deficit

Balance Oxygen Demand

Balance Oxygen Deficit

Basic Oxygen Deficit

(A
(B
(C
(D
(E

)
)
)
)

Deficiency of only Vitamin K in humans can most probably result in —
(A) Low leukocyte count in blood

(B) Failure of clotting of blood

(C) Non absorption of Calcium by the body

(D) Poor memory

(E) Loss of reflex action

Which of the following is not an example or a very weak example of source of
non-conventional energy ?

(A) Wind energy (B) Solar energy (C) Nuclear energy

(D) Tidal energy (E) Biogas energy

Which of the following is not or a least probable hereditary character/disorder in
humans ?

(A) Colour blindness (B) Down’s syndrome (C) Deaf-mutism
(D) Haemophilia (E) Being blue eyed

If (83n+2)=(n2+P)=(5n-4),the value of ‘P’ is —

(A) 1

(B) 2

(O

(D) 4

(E

) Can be determined only if value of ‘n’ is given

The average age of husband, wife and their child in 2009 was 27 years and that of
wife and the child in 2007 was 20 years. The present age (in 2012) of the husband is
(A) 30 years (B) 35years  (C) 40 years (D) 45 years (E) 50 years

Each member of the Range Forest Officers Association prefers either tea or coffee
or both. If the total members of the association are 600 of which 75% prefer tea and
45% prefer coffee, how many members prefer both ?

(A) 120 (B) 110 (C) 100 (D) 90 (E) 80

®
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18.

19.

20.

21.

22.

23.
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SRR, BOTT 230 FERT B035, 600 9T 509 75% FERT BHR), 08, [WRRTT,
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24.

25.

26.

27.

28.

29.

A man divides his savings among his four sons A,B,C and D such that A gets
one fourth, B one third, C one ninth and the rest goes to D. Out of his share, D
donates 20% to the Animal Welfare Fund, which amounts to Rs. 1,100. The total
savings divided by the man among his four sons is —

(A) Rs. 12,000 (B) Rs. 15,000 (C) Rs. 18,000 (D) Rs.21,000(E) Rs. 24,000

Two trains each 100 mts. long are approaching each other on parallel tracks. The
velocity of one train is three times of the other. If they take 10 seconds to fully cross
each other, the velocity of one of the trains is —

(A) 20 kilometers per hour

(B) 24 kilometers per hour

(C
(D
(E

)
) 48 kilometers per hour

) 54 kilometers per hour

) 108 kilometers per hour

A student appeared in PUC examination consisting of SIX subjects, each carrying
maximum 100 marks. The average of the marks secured was calculated to be 55. It
was later found that this calculation was wrong, as instead of 90 marks scored in
Kannada, what was used in the calculation was 70. The correct average of marks is
closest to —

(A) 56.50%  (B) 57.00% (C) 57.50% (D) 58.00% (E) 55.50%

The cost of painting all the faces of a cube of side ‘a’ is Rs. 100. At the same rate, the
cost of painting all the faces of a cube of side ‘2a’ will be —
(A) Rs. 400 (B) Rs. 600 (C) Rs. 800 (D) Rs. 1,600 (E) Rs. 2,400

A bank gives only annual simple interest on its fixed deposits at a fixed rate of interest.
An amount kept in fixed deposit for five years became Rs. 2,250 and Rs. 2,700 in
eight years. What is the rate of interest offered by the bank?

(A) 8% (B) 10 % (C) 12% (D) 15% (E) 20%

An amount was kept in a bank for a period of 2 years earning a annual compound
interest of 10% . Had the bank been giving simple interest at the same rate for this
deposit, the interest earned would have been Rs. 215 less. The amount deposited is —
(A) Rs. 18,500 (B) Rs. 19,500 (C) Rs. 20,500 (D) Rs. 21,500 (E) Rs. 22,500

(10)
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31.

32.

33.

34.

35.

36.

37.

38.

A tank can be filled by three pipes named P, Q and R flowing water into it. When all
the three pipes are used to fill the tank together; the tank gets filled in 5 hours. If pipe
R is twice as fast in filling the tank as Q and Q twice as fast as P, in how much time
can pipe P alone fill the tank ?

(A) 35 hours (B) 30 hours  (C) 25 hours (D) 20 hours (E) 15 hours

The cost price of 20 apples is the same as selling price of ‘n’ apples. If the profit
made by selling each of the 20 apples is 25%, the value of ‘n’ is —

(A) 12

(B) 16
(C) 20
(D) 24
(

E) Data is insufficient to calculate ‘n’

)
)
)
)
If ‘m” % of ‘m’is 49, the value of ‘m’is —

(A) 60 (B) 65 (C) 70 (D) 75 (E) 80

If the length of a rectangle is reduced by 4 units and the breadth increased by 3 units,
it becomes a square having same area as the original rectangle. The perimeter of
the rectangle is —

(A) 50 units (B) 64 units (C) 72 units (D) 84 units (E) 96 units

If 3x=Y) = 27 and 3* +Y) = 243, then the value of x is —
(A) 5 (B) 4 (C) 3 (D) 2 (E) 1

A barrel contains a mixture of water and alcohol in the ratio 3:5. What part of this
mixture should be removed and replaced with water so that the new mixture contains
water and alcohol in equal quantities ?

(A) 1/4 (B) 1/5 (C) 1/6 (D) 1/7 (E) 1/8

Inside a triangle of sides 3 cms., 4 cms. and 5 cms. is drawn a smaller triangle by
joining the midpoints of each side. What will be the area of this smaller triangle ?
(A) 1.5s9.cms. (B) 2sg.cms. (C) 2.5sq.cms. (D) 3sqg.cms. (E) 3.5sq.cms.

If ‘n’ is a positive number more than 1, the value of {(n) + (1/n)}2can never be less
than —
(A) 8 (B) 4 (C) 2 (D) 3 (E) 5

A river is flowing with a velocity of 3 Kmph. A boat goes upstream a distance of
4 Kms and immediately turns back to return to the starting point downstream in a
total time of 1 hour (to and fro journey time). What is the velocity with which the boat
can move in still water ?

(A) 10 Kmph. (B) 9 Kmph. (C) 8 Kmph. (D) 7 Kmph. (E) 6 Kmph.

(12)
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30.

31.

32.

33.

34.

35.

36.

37.

38.
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44.

45.

46.

From a wax hemisphere, a volume equal to the biggest sphere that can be inscribed
in it,is removed. The ratio of the volume of the original hemisphere to that of the
volume removed is —

(A) 8:1 (B) 8:3 (C) 4:1 (D) 4:3 (E) 2:1

Three partners in a business shared their profits in the ratio 5:5:8. If they had partnered
for periods of 14 months, 8 months and 7 months respectively, the ratio of their
investments is —

(A) 21:25:64 (B) 20:35:64  (C) 20:21:64 (D) 21:35:64 (E) 20:25:64

Which among the following is not equal to 1729 ?

(A) (103+93) (B) (352+232—-29) (C) (123+19)

(D) (143—103—15) (E) (422—52—10)

In the series 2, 4, 12, 48, 240, ........ the next number should be —

(A) 840 (B) 960 (C) 1440 (D) 1920 (E) 2160

In the series 64, 71, 80, 91, 104, 119, 135,155 there is one number that does not

belong to it as it does not follow the rule of series. That number is —

(A) 71 (B) 104 (C) 135 (D) 155 (E) 91
1f2994 + 14.5=172,then 29.94 + 1.45 =
(A) 0.172 (B) 1.72 (C) 17.2 (D) 172 (E) 1720
Which among 21/2 | 31/3, 41/4 g1/6 and 12112 s the largest ?
(A) 12112 (B) 41/4 (C) g1/6 (D) 21/2 (E) 31/3
In the figure given below angley is —
yO

40° 80°
(A) 40° (B) 60° (C) 30°
(D) 50° (E) 45°

(14)
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48.

49.

50.

51.

In the figure given below, angle ACB is a right angle. If AB=4 cms. and figures on
AC and CB are semicircles, the sum of the areas of the semicircles is —

A
4
B
U
(A) 41 square cms. (B) 3.5 squarecms. (C) 3m square cms.
(D) 2.5® square cms. (E) 21 square cms.

A ladder leans against a vertical wall. The top of the ladder is 8m above the ground.
When the bottom of the ladder is moved 2m farther away from the wall, the top of the
ladder rests against the foot of the wall. What is the length of the ladder ?

(A) 10 mts.

(B) 12 mts.

(C) 17 mts.

(D) 19 mts.

(E) Cannot be determined with the given data.

In the figure given below ABCD is a square of side 2 cms. The area of the shaded
region is —

(A) (0.5 —4)squarecms. (B) (m —4)square cms. (C) (2r —4) square cms.
(D) (2.5m —4)squarecms. (E) (4w —4) square cms.

If aspeed of 9.8 mts/sec. is expressed in feet / sec., it will closest to —

(A) 26 feet/ sec. (B) 28 feet/ sec. (C)30 feet/ sec.

(D) 32feet/sec. (E) 34 feet/sec.

The standard deviation of the data 1, 3, 2,6, 12, m, 11, r, 5and 4 is 3. The standard

deviationof 3, 5,4, 8,14,2 +m, 13,2 +r, 7 and 6 will be —
(A) O
(B) 3
(C) 6
(D) 1
(E) More than 4 but less than 6

(16)
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52. For the data given below

X values 10 15 20 25 30

Frequency 5 8 2 1 3

The arithmetic mean is closest to
(A) 15 (B) 16 (C) 17 (D) 18 (E) 19
Data for questions 53 to 57

The marks obtained by forestry students in their first semester examination is as per the
table given below.

Name of subject, maximum marks and marks obtained

Student | Mensuration| Wild life Silviculture | Mycology | Forest law | Genetics
Name Max. Marks | Max. Marks | Max. Marks | Max. Marks | Max. Marks | Max. Marks

125 100 100 75 40 60
Amar 77 70 81 49 22 37
Babu 74 61 76 66 33 41
Chetna 68 59 88 44 26 35
Dileep 85 77 85 47 31 42
Geeta 71 92 77 71 35 25
Madhu 80 79 89 46 25 35

Based upon this data answer the following five questions.

53. The number of students who scored 60% and more marks in Mensuration, Mycology,
Forest Law and Genetics each are
(A) O (B) 1 (C) 2 (D) 3 (E) 4

54. If students were ranked on the basis of total of marks secured in all subjects, who
stands third from top ?

(A) Amar (B) Babu (C) Chetna (D) Dileep (E) Madhu
55. The difference between the total marks of the first ranked student and the last ranked
one is
(A) 49 (B) 50 (C) 51 (D) 52 (E) 53
56. How many students in the class scored more than 75% marks on the aggregate ?
(A) 4 (B) 3 (C) 2 (D) 1 (E) O
57. The average of the marks scored by the students in Mensuration subject is closest to
(A) 70 (B) 72 (C) 74 (D) 76 (E) 78

A (18)
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(E) 19
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53.

54.

55.

56.

57.

R0eOT BeoBRIFOR FINT T[INI YUBOR.

3B NedE, 89e0g, R, T TOVRRO 30T FVNRT WWNYY, Fo3rowtwr 60% 8,03
ézé.zd €208 NYIT ébmegf;srr{@; #o@% @d% ?

(A) O (B) 1 (C) 2 (D) 38 (E) 4

DY DRODMTY MO t3) BOFNEG STTTY DT, PFNON m@é QBRI TOTT, BoeAV0T
RRTE MWTTY c30TZYT ?

(A) @Ro0° (B) w200 (C) 2333 D) 89  (E) 353
BT m@d NOAT Q9 HF 030 WY BRSoD m@d NAT QTHF OB Lk HOFMENTI
RTYR IR ?

(A) 49 (B) 50 (C) 51 (D) 52 (E) 53
3dﬁéojaé’)m®a’% @@@rr{@;’o 0T 75% %oé éz?% 208 r{%w%é’ ?

(A) 4 (B) 3 (C) 2 (D) 1 (E) O

3B NESTTY QT HF MO NYAT FTRO 07 98,08 BWeTTE,

(A) 70 (B) 72 (C) 74 (D) 76 (E) 78
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Data for questions 58 to 62

An upper middle class family budgets its monthly income so that the expenses are monitored
and savings are regulated. The budget is as per the pie chart below.

16°Clothing

8° Travel
4°Medical

At the end of the month, the actual expenses made in the month were calculated and
tabulated and depicted in the pie chart given below.

g° Travel

4° Medical

10’ Clothing

The only expense that was exactly equal to that budgeted was rent.
Based on these, answer the following four questions.

58. The total monthly income budgeted is
(A) Rs. 24,000 (B) Rs.30,000 (C) Rs.36,000 (D) Rs.42,000 (E) Rs. 45,000

59. What is the amount of rent budgeted and paid ?
(A) Rs. 6,000 (B) Rs. 5,500 (C) Rs.5,000 (D) Rs.4,500 (E) Rs. 4,000

60. As against the budgeted saving of Rs 12500, the actual saving is
(A) Rs. 8,000 (B) Rs. 9,000 (C) Rs.9,500 (D) Rs.10,000 (E)Rs. 11,000

A (20)
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58. 202¥y SOINOAT) 2,830 TWRAT SO ) ?

(A) T».24,000 (B) 3».30,000 (C) d®.36,000 (D) 3n.42,000 (E) Sw.45,000
59. T RO DONRA W0 TORERT PR HRE ?

(A) 32.6,000 (B) 3».5,500 (C) ©%.5,000 (D) 3».4,500 (E) d%. 4,000
60. 20T LONRAT YVPZ0D TR, 12,500 @@éoﬁmﬂ QTTION BRBT LVPTICD ?

(A) 32.8,000 (B) 3%.9,000 (C) ©».9,500 (D) 3».10,000 (E) 3. 11,000
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61

62

63.

64.

65.

66.

67.

68.

In case of which item has actual expense been half of the amount budgeted ?
(A) Clothing (B) Travel (C) Medical (D) Education (E) Food

In case of which item/items the expense/expenses has/have been more than
budgeted ?

(A) Education and Food

(B) Food

(C) Food and Travel

(D) Travel

(E) Travel and Medical

For the five numbers 2, 4, 7, 8 and 9, the mean deviation is —
(A) 6 (B) 0 € 2 (D) 2.2 (E) 2.4

For the 20 numbers 25, 72, 28, 65, 29, 60, 30, 54, 32, 53, 33, 52, 35, 51, 42, 48, 45,
47, 46 and 33, the median is —

(A) 45 (B) 46 (C) 45.5

(D) 46.5 (E) None of the above

The mode of thedata 2, 3,5, 8,2,4,3,3,7,8,7,1,1,4,8,9,1,9,0, 3,8, 3,5, 8,5, 3,
7,8,1,0,9,5,8,8,6,6,8,9,9,8,4,1,1,0,8,5,4,5,9,7,8,4,8,3,2,1,5, 8,6, 6, 4,
5,8,1,0,1,1,1,3,8,0,5,3and 8 is —

(A) 8 (B) 7 (C) 6

(D) 5 (E) None of the above

A'is the brother of B. B is the sister of T. T is the mother of P. If itis known that R is the
grandfather of P, how is T relatedto R ?

(A) T is daughter/daughter-in-law of R

(B) Tisthe niece of R

(C) Tisthe sister of R

(D) T is the granddaughter of R

(E) T is the wife of R

In the series SCD, TEF, UGH, ? , WKL, the blank “?’ can be filled by —
(A) VIJ (B) VHI (C) PEF (D) PFE (E) PIJ

In some unknown language ‘malgauper means “mango rind”, ‘malgaport’ means
“mango juice” and ‘moggagrop’ means “apple colour”. What word in the unknown
language should mean “apple juice” ?

(A) moggaport

(B) molgaauper

(C) gropport

(D) moggagrop

(E) either ‘gropport’ or ‘molgaauper’

(22)



LR AP

61.

62.

63.

64.

65.

66.

67.

68.

0350&3 ébﬁodaé& ROWORRTCE LeEF SO LONRAT HRTT LTF TR JeeoN dzimmﬁ ?

(A) DR (B) Boxmes  (C) S@eeed (D) 28 (E) =500
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(A) %Msa 02 $HT (B) e300 (C) =T 0=y odRed
(D) =oInes (E) Sodmes 3023 38000

2,4,7,8 0309 20w 00 #o@%ﬁ@rﬁ FTORO DIOF @x%?

(A) 6 (B) 0 (C) 2 (D) 2.2 (E) 2.4

d@_ooﬁ 25,72, 28, 65, 29, 60, 30, 54, 32, 53, 33, 52, 35, 51, 42, 48, 45, 47, 46 533:’}
33 83 20 Fod MY WGR (S0eRODT) CIRYT?

(A) 45 " (B) 46 (C) 45.5

(D) 46.5 (E) 2mg cdnytn 9o

6333052,3, 58,2,4,3,3,7,8,7,1,1,4,8,9,1,9,0,3,8,3,5,8,5,3,7,8,1,0, 9,
53,8,6,6,89,98,4,1,1,0,8,54,5,9,7,8,4,8,3,2,1,5,8,6,6,4,5,8, 1,0,
1,1,1,3,8,0,5, 330228 oRn? Spee oxd ?

(A) 8 (B) 7 (C) 6

(D) 5 (E) 0ed= cdnmmn o9,

A 030 B 0 323, B 030 T 0 Axeemd. T 030 P 03 39000, R oWt P o 308
QOTO é@@%ﬁ, T 030 R 3R007 3R B0 aﬁwo@m@d ?

(A) T a30R = 2oneh /3R%

(B) T 0320 R T 3006330 0300 ARETO0I s0Med

(C) T B0 R 3 Axeew0

(D) T cx0 R 3 Sesned

(E) T ctwR 8,

SCD, TEF, UGH, 2, WKL Zeriobhe) ‘2 35 otnamoos 20000030 ?
(A) VIJ (B) VHI (C) PEF (D) PFE (E) PIJ

2,000 EYONT LRCDS ‘malgauper’ om3 ‘mango rind’ ©omgr, ‘malgaport’ 0wd
‘mango juice’ 20535, ‘moggagrop’ ¢20wS ‘apple colour’ Qom@Er. $90T LR
O3RE BT T ‘apple juice’ ?

(A) moggaport

(B) molgaauper

(C) gropport

(D) moggagrop

(E) w0 ‘gropport’ &5 ‘molgaauper’
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69.

Ay A

If three of the five figures given below numbered (1) to (5) are used, a square can be
made. The choice giving the numbers of the three figures is —

(5)

(A) 2,4and 5 (B) 3,4and5 (C) 1,2and4 (D) 1,4and5 (E) 1,2and5

Data for questions 70 and 71 :

70.

71.

72.

73.

74.

(a) Shyam weighs more than Bhima as well as Aryan.

(b) Ranijit weighs less than only one person, who is Karan.

(c) The weight of Prateek is equal to that of Shyam, but less than that of Dennis.
(d) Aryan does not weigh the least amongst all.

Based upon these four facts, answer the following two questions.

Amongst the persons enlisted in the data, who is the third heaviest in weight ?
(A) Aryan (B) Bhima (C) Prateek and Shyam
(D) Ranijit (E) Dennis
Who is the lightest in weight in the group ?
(A) Bhima (B) Ranijit (C) Dennis
(D) Aryan (E) None among Bhima, Ranijit, Dennis and Aryan

In the relationship India: President:: Karnataka: ? ,the mark “?”can be replaced
by
(A) Prime Minister (B) Home Minister (C) Mayor
(D) Chief Minister (E) Governor

Please select the figure amongst answer figures (numbered 1 to 5) which will correctly
continue the series of problem figures (named P to T) below

Problem figures Answer figures

> i< << < < _I< > > >

>II>|>>2> 0« >lo< <7< >

> [>7|<|I<{|< <Z|I< > > >

STSZ s <> k2|< <SS S< | <>

P Q R S T 1 2 3 4 5
(A) 3 (B) 1 (C) 4 (D) 5 (E) 2

Among the four figures marked 1, 2, 3 and 4, which one/ones contains/contain the

one marked X as a part of it ?
g 7@
S| haEREE
)

(A) 1 (B) 4 (C) 3 (D) 2 (E) 1and 2 both
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69. (1) 60z (5) T=BrE Boss, Broed FLNE 200 FERVY, 0IRYTHTTR BT, WFRBHOT
2,003 ¢35 DUWRWBID. 030, BRI & D JF7IY Foadned cxnmy) ?

A

(5)

(A) 2,425 (B) 3,435 (C) 1,224 (D) 1,4385 (E) 1,235
70 =033 71 Se IFpent Te903 !

(@) 9,308 BT YD WTY BODFI S SRFOT T,

(b) Towe'= Be% 3R oW WA BRTYOET [RT TR

(C) BT’ BRBR) WY T BRFE, Bed ST BT BRF08 TR,

(d) SoDFT SRT W[TLT TRFE TR WY,
S0eO LY, ATY0BNY SHITEY FYNT DT> FINTRD, LZ0R.
70. ©303TE Tl WHRT FIMIY, 58,08 3513) BRITROD RRTHOITT 033> ?

(A) 80 (B) ez (C) Béez* 0= /T
(D) Qowe (E) @me

71. 1o BAR BRFEHTO 03T ?
(A) e (B) Sovse® (C) @am

(D) =033 (E) ez, Joees, BT, SOOF T 03RTR 89,
72. ROWOT LWITI : U@%ﬁé 1 FDFWE: ? 09 “ Qm@dbod WRORWROTD ?
(A) TR (B) nmAws  (C) Soecdo® (D) S02)e008, (E) oomaoe
73. 39 8ney P c00oms T SN 70w, F37Y 3 eedcddmd FOCIRN S00mdm0RWe, FE03R
1 00T 5 TRSNS LWZT TIPTS50 BRT.

sabms [IN QU3T TIN
8« =0 w5
> < < < < < < > > >
> > > >| > < S| o< < < >
> > < < < <7< > > >
SIS s < <> K2 <ISS [S< | <>
P Q R S T 1 2 3 4 5
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74. 1, 2,3 35 4 2050 TOOEAT HRYE,, X 203> T8RS FEcH) CARTTe witoors/s ?
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™ 1) @ ) @
(A) 1 (B) 4 (C) 3

(D) 2 (E) 1 23582 5> 308
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75.

76.

77.

If the total number of dots on opposite faces of a cubical block is always 7, find the
figure/figures below which is/are correct ?

(1) @ ) Q)
(A) Only 2
(B) Only 3
(C) Only1and 2
(D) Only 2 and 4
(E) Only1,2and 3

Amongst the diseases/disorders Goitre, Rickets, Anaemia, Typhoid and Scurvy one
does not belong to the group as it is different in some way. That disease/disorder is —
(A) Goitre (B) Rickets (C) Anaemia

(D) Typhoid (E) Scurvy

In the figure given below the numbers are placed according to a rule/pattern. The
number that can replace the mark “?’ in the figure is

OO0
@

&
&

(A) 5
B) 3
C) 1
) 0
) N

—~

/a/-\

(E) None amongst 0,1,3and 5
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75. 20030 PITTE FRTRT QTOT #0ONTAT WOTONE K03 08 cdneenen? 2ttt
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M @ 3 @
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B) 3 S»g
(C) 13532 2
(D) 2 =) 4 =g,
(E) 1,2 @33 @ng,
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(A) fncotros (B) 08w (C) Qe
(D) &woodr, (E) R

77. 39NT TF030Y {00 B0 NI, 20w AETROMEN e3eS 23eS BIRYE 1odosenNnas.
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@

&
&
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- W o

o O

(E) 0,1, 330835 09 cinxytm &),
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78.

79.

80.

81.

A man is facing North. He turns 450 in the clockwise direction and after that a further
1809 in the same direction. Next he turns 2700 in the anti-clockwise direction. Which
is the direction he is facing now?

(A) South-east

(B) South-west

(C) North-east

(D) North-west

(E) West

From the five figures given below, which is different from the other four ?

03| A\|[0]|©>

Py (@ ®) ) (M

(A) P (B) Q (C) R (D) S BT
The figure amongst those marked (1) to (4) which can replace the mark ‘?’ below is

FPR[E
OIS

DD ?

D

C

D)
o
o o

© o
C
o

(4)

—_
—_
~
—_
N
~
—
w
=

) 3
) 1
) 4
) 2
) None of those marked (1) to (4)

Please choose the word amongst the five mentioned against options (A) to (E) and
mark the one that is different from the rest.
(A) Fungi
(B) Fern
(C) Moss
(D) Grass
(E) Algae
(28)
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OIS

©)

o|©| o

©
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82.

83.

84.

Directions for questions 82 to 85 :

In each question below are given two/three statements followed by conclusions.
You have to take the given statements to be totally true, even if they seem to be at
variance from well known facts. Read the conclusions and decide as to which of
them logically follow from the given statements, disregarding commonly and well
known facts. Then answer questions about conclusions.

Based on these, please answer questions 82 to 85.

Statements : (a) Ravi is always successful.
(b) No fool is always successful.

Conclusions : (P) Ravi is a fool.
(Q) Ravi is not a fool.

Mark your answers as follows :

(A) If only conclusion P follows.

(B) If only conclusion Q follows.

(C) If either conclusion P or conclusion Q follows.
(D) If neither conclusion P nor conclusion Q follows.
(E) If both conclusions P and Q follow.

Statements : (a) No bat is a tail.
(b) All tails are black.

Conclusions : (P) Some blacks are tails.
(Q) Some blacks are bats.
(R) No black is a bat.
Mark your answers as follows :
(A) If only either conclusion P or conclusion R follows.
(B) If only conclusion P and conclusion Q follow.
(C) If only conclusion Q and conclusion R follow.
(D) If conclusions P, Q and R follow.
(E) If either conclusion Q or R follows, and conclusion P follows.

Statements : (a) All oceans are rivers.
(b) Some springs are rivers
(c) All wells are rivers.

Conclusions : (P) Some springs are oceans.

(Q) Some wells are rivers.

(R) Some rivers are oceans.

(S) No well is a river.
Mark your answers as follows :
(A) If either conclusion P or R follows, and conclusion Q follows.
(B) If either conclusion Q or S follows, and conclusion R follows,
(C) If either conclusion P or S follows, and conclusion Q follows.
(D) If conclusions P, Q and S follow.
(E) If all conclusions P, Q, R and S follow.

(30)
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85.

86.

87.

Statements: (a) All snakes are trees.
(b) Some trees are roads.
(c) All roads are mountains.

Conclusions : (P) Some mountains are snakes.
(Q) Some roads are snakes.

(R) Some mountains are trees.
Mark your answers as follows :

(A) If only conclusion P follows.

(B) If only conclusion R follows.

(C) If conclusions Q and R both follow.
(D) If conclusions P, Q and R all follow.
(E) None of the conclusions follow.

Directions for questions 86 to 90

Each question below consists of a statement followed by two arguments related to it.
You have to analyze and rate the arguments and rate them as “strong’ or “weak’.
Please mark your options in the following way.

Mark (A) if only first argument is strong.

Mark (B) if only second argument is strong.

Mark (C) if either first or second argument is strong, but which one is not evident.

Mark (D) if neither first argument nor second argument is strong.
Mark (E) if only both the arguments are strong.

Should the showing of American serials be banned on cable networks in India ?

First argument : Yes. They depict a culture alien to the country which affects our
society.

Second argument : No. American serials are of high artistic levels.

Should persons below the age of 18 years be allowed to join army in India ?

First argument : No. Persons below the age of 18 years are not physically and
mentally mature to shoulder the responsibilities of army.

Second argument : Yes. There is shortage of good army men and young people
persons recruited will fill the gap and remain in the forces for longer periods as they
will retire very late.

(32)
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85.

86.

87.
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88. Should income tax be banned in this country ?
First argument: Yes. It is a very unfair to collect a tax from the people of poor India.

Second argument: No. It is a good source of revenue for the government to be used
on the development of the country as a whole.

89. Should there be a ban on the use of chemical pesticides in farming in India ?

First argument: Yes. The chemical pesticides are polluting surface and underground
water and becoming a serious health hazard for all.

Second argument : No. In the absence of pesticides the pests would destroy crops
to such an extent that farmers will have very little to harvest and the country will have
little to feed its people.

90. Should admission to professional courses be only on merit and without any
concession to any section/class of the students in this country ?
First argument: Yes. This will result in high quality professionals capable of competing
with any country in the world.
Second argument : No. This will keep many economically and socially backward
students not able to compete successfully for professional courses.

Background information for questions 91 to 93

In a Range Forest Officers training college, there are four trainees named Deepak,
Surya, Tahir and Alok. Each of them plays two games and studies only one elective
subject. One of them studies Commerce and plays Golf and Lawn tennis. Deepak
and Surya study Psychology. Deepak plays Billiards. Both the trainees of Psychology
play Chess. Tahir is a student of Physics. The Physics student plays chess and
Badminton. Only one of the students plays football.

Based upon the above, answer the following three questions.

91. Which trainee/trainees does/do not play Chess ?

(A) Deepak (B) Tahir (C) Surya
(D) Alok (E) Deepak and Tahir

92. Who studies/study Psychology and plays/play Billiards ?
(A) Tahir (B) Deepak (C) Surya
(D) Alok (E) Alok and Tahir

A (34)
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93.

94.

95.

96.

97.

How many games are played and elective subjects studied by all four trainees ?
(A) 5 games and 3 subjects
(B) 6 games and 4 subjects
(C) 6 games and 3 subjects
(D) 5 games and 4 subjects
(E) 4 games and 3 subjects

Please read the following two statements.
(P) Anubhav is older than Yash.
(Q) Sunita is older than Anubhav.
If these two statements are correct, the statement,
(R) Yash is older than Sunita.
(A) Is definitely true.
(B) Is probably true.
(C) Is definitely false.
(D) Is probably false.
(E) No inference can be drawn about statement (R).

Directions for questions 95 to 97

Each question below consists of a statement followed by two assumptions (P) and (Q).
Consider the statement and decide which of the assumptions are implicit. Please
mark your options in the following way.

Mark (A) if only assumption P is implicit.

Mark (B) if only assumption Q is implicit.

Mark (C) if either assumption P or Q is implicit but which is unclear.

Mark (D) if neither of the two assumptions are implicit.

Mark (E) if both the assumptions are implicit.

Statement: Anil’s advice to Sunil- “Go to Bidar via Wadi- the shortest route”.
(P) Sunil wishes to go to Bidar.
(Q) Anil gives advice to everybody.

Advertisement of a mosquito coil company X: “Ensure a good night’s sleep for your
family using this safe and effective coil”.

(P) X mosquito coil is better than all other brands of mosquito coils.

(Q) A good night’s sleep is a desirable thing.

“Guests may be provided with dinner’- Ashok tells his wife.
(P) Unless told, dinner may not be provided to the guests.
(Q) The guests were to stay up to the time of dinner.

(36)
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98.

99.

100.

The times displayed in the watches below follow a logical order/series. In accordance
with the series/order, the time of the last watch should be

E B B B A

alziz]zln
EEEEE

) 4:49

3.55

e T g

e T g

(B) 4:59
(C) 5:09
(D) 5:19
(E) 5:29

In a certain code, the word CENTRAL is coded as ABCDEFG and PLANETARIUM
as HGFCBDFEIJK. In the same code how will the word LANTERN be written ?
(A) GFCDJEC

(B) GFCDEJC

(C) GFCDBKC

(D) GFCDEKC

(E) GFCDBEC

In the figure given below the mark “?’ needs to be replaced by

A
G, | 1L |2
M

— —
Q >
N N N N

pd

@
T Oox \"l'l \‘X

O
o]

—_

E) None of the above four choices is correct.
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(A) 4:4

(B) 4:59
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2,000 @@ro—-i Aogegts CENTRAL 5?%55% Ro3e2d W ABCDEFG Q03Rm,
PLANETARIUM K’)QLHGFCBDFEIJK QOTR WICHERNT. 5de Rodee wen LANTERN
B Fert LBo3TIT ?

(A) GFCDJEC

(B) GFCDEJC

(C) GFCDBKC

(D) GFCDEKC

(E) GFCDBEC
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Karnataka Forest Department

Range Forest Officers’ Preliminary Examination, 2012
Key to Aptitude Test Paper- Series ‘A

Q.No |Ans |Q.No [Ans |Q.No |Ans |Q.No [Ans
1 E 26 D 51 B 76 D
2 E 27 A 52 C 77 C
3 D 28 B 53 B 78 D
4 D 29 D 54 E 79 B
5 B 30 A 55 C 80 D
6 C 31 B 56 E 81 D
7 D 32 C 57 D 82 B
8 E 33 A 58 E 83 E
9 A 34 B 59 E 84 B
10 A 35 B 60 B 85 E
11 E 36 A 61 A 86 D
12 C 37 C 62 B 87 A
13 D 38 B 63 E 88 B
14 D 39 C 64 C 89 E
15 D 40 B 65 A 90 E
16 C 41 B 66 A 91 D
17 A 42 C 67 A 92 B
18 B 43 C 68 A 93 C
19 C 44 C 69 D 94 C
20 B 45 E 70 E 95 A
21 B 46 B 71 A 96 B
22 C 47 E 72 E 97 E
23 A 48 C 73 E 08 D
24 C 49 C 74 B 99 E
25 D 50 D 75 A 100 |C




I GK
PLEASE OPEN THE BOOKLET ONLY WHEN DIRECTED BY THE INVIGILATOR.
TOeTD, 0edpPTIL AWeF BT AeRT FogTHe B B Fob PHTHRY LTI,

Maximum Marks : 100 ﬁaﬁ@ eo3ned ¢ 100
Total Number of Questions : 100 W), B3no: 100
Maximum Time Allowed is 2 Hours 716?’% 300D : 2 noed

CANDIDATES HAVE TO WRITE THE OMR SERIAL
NUMBER IN THIS BOX e 5
ot BT b 20, 67, 3RRoRy B4 03RO LA T B, RyIeh Aods

A

QUESTION PAPER CODE

IMPORTANT INSTRUCTIONS

DO NOT CARRY MOBILE PHONES AND CALCULATORS DURING THE TIME OF TEST.
YOU MAY LOSE YOUR CANDIDATURE IF YOU DO SO.

. Before opening the booklet please write your name, registration number and question booklet series and
sign (after affixing you left hand thumb impression in the prescribed box) at appropriate place on the OMR
answer sheet.

. Follow the instructions carefully for marking of answers on the answer sheet. These have been given on
the answer sheet.

. All questions are compulsory and carry equal marks.

. Each question is followed by four answers [A, B, C, D] of which only one is complete and most correct.
Please mark on the OMR sheet the response which you feel most correct and complete.

. In case the single response marked by you on the OMR sheet matches the “Key of right answers” as
provided by panel of experts, you will be awarded full marks for that question.

. There is no negative marking. However, if more than one response is marked for a question, the answer
shall be evaluated as wrong option marked, and the candidate shall be awarded zero marks for that question.

. Blank space on back page/pages may be used for rough work.

. Question paper is provided in Kannada and English. However in case of any discrepancy, English version
may be referred as correct.

. Only Blue or Black colour ball point pen should be used for marking answers.

. So go ahead. Best of luck.

LTR00, BRWNNAT
TOeFOD FZHTO, Bt FRET® 0B Ty LQSCLIT NRCR) ITWRT. A VPYNYRY, TOeT,
msao&faeéﬁ Zon am WYY HFITTRY Ve 3FTges 3.

G
. B [GBOIRY TS0 FRTL .220.5T7. $uZ3 m@?oﬁa ANAB I ado TRD, JpemES NO@j o2 eﬁé BB PFB
Rosg, WOesD Feors 2k N%faﬁda ANOTBRT %@oﬁeﬁ@ 238 BRI mm 2053 By e, mdséab T8 R eﬁmﬁa@cﬁ)

. wz&éﬁ@’m @zs’aéouaod 20RO emédﬁ@’d) $VZT BT MOTOSA. wzﬁéﬁ@’& wéd m%éO:b 2003 BRBEHAT.

. R w%ﬁ%’b 3@3053 202 SR @oémf:% mo@dogd

. Fe FF [A, B, C, D] Ty sug0niv) 3BT, R3NP wotd Sng mowgpear &3 ZO0IREITDd. 03ne 6ugd
TOTRLaF T2 RO DOTD ey G RE 8:953?\’)2{ TR

. 2OTRER A TOTIT .08 YUZTHY) szz@#&a\%ojo TOINT emgdéé BROQFOIPMIYTITTS TP @Oﬁﬁ%”ﬁ%{ Qo7
QeTBERNRITYTO.

. TTTHYT WOFTIVTIP DY, STWT, e LoT3E 0T ), YUBTHR, owd BIT ARTT, QINER), BFQTRTI
TR B 030, 20T TONESR, & BIT BT, W0FRR AR,

. BB BEFOD &00T BT [RDUNE 200 nE) 265 30 FORE, GVTORENFWTTO.

st a%éﬁ%fda 5&3 302y sorg WRNYE, DEWRNG. STS BES0ES 3055, CIRITe BBR 50BN, ot 17o=eDd
5503353 N@OSRd wéofoom’a ZONEI.

. emgdmf?n rbdo&ma ReO ST FF) T WS VI YOTOSRENR.

. Q:BCS’QGOCS B0OTITTOWD. T m? o eﬂd IR, ORRO. [P.T.O.




GK

1. Parents of Dev Patel, the actor of the film “Slum Dog Millionaire” which won the Oscar

award, belong to the following country
(A) India (B) Kenya (C) Uganda (D) United Kingdom

Indian born Wall Street wizard, who was recently sentenced to 2 year imprisonment in
the United States of America, for insider trading fraudulent practices, is

(A) Manor Knight Shyamalan (B) Vikram Pandit

(C) Rajat Gupta (D) Meghnad Desai

Name the Indian Cricketer who bats right handed but is a natural left hander.
(A) Rahul Dravid (B) Sachin Tendulkar

(C) Saurav Ganguly (D) None of the above

Recently Pakistan announced selection of a person to be the first woman astronaut of
the country. Name her.

(A) Heena Rabbani Kar (B) Asma Jehangir
(C) Namira Salim (D) Shaiza Khan

Cricket team of this country is currently on tour in our country to play a test series against
our Cricket team.

(A) Australia (B) England
(C) Sri Lanka (D) West Indies

Name the unseeded Indian badminton player who defeated the London Olympics Gold
Medalist Li Xuerui.

(A) P. V. Sindhu (B) Jwala Gutta

(C) Saina Nehwal (D) Ashwini Ponnappa
. The first woman to scale Mt. Everest was

(A) Junko Tabei (B) Bachendri Pal

(C) Valentina Tereshkova (D) Nirupama Mankad

Recently a minor planet was named after an Indian, in appreciation of his contribution to
environmental research and campaigns. Name the person.

(A) Sainudeen Pattazhy (B) Anil Aggarwal
(C) Sunita Narain (D) R.C. Pachauri

. The Communist Party of China (CPC) is expected to name the following as the General

Secretary of the CPC in its 18! National Congress.

(A) Hu Jintao (B) Xi Jinping

(C) Hu Yaobang (D) Li Kegiang
@
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12.

13.

14.

15.

16.

17.

18.

Presidential election was held recently in the United States of America. Mark the incorrect
statement.

(A) President Obama is re-elected.

(B) The expenditure of the Presidential candidates in the election was more than
Rs. 10,000 Crores.

(C) Voters directly elected the President.
(D) The popular vote for President Obama was 50 per cent.

Recently an Asian elephant was reported to be capable of reproducing human sounds,
in Korean language. Name the elephant.

(A) Gajanan (B) Koshik (C) Karnik (D) Arjuna

Name the Indian born Governor of South Carolina State of the United States of America.
(A) Bobby Jindal (B) Nikky Haley (C) Sunita Williams (D) Indira Nooyi

The Chief Information Commissioner of India is
(A) Satyananda Mishra (B) Ranganatha Mishra
(C) R. Srikumar (D) Wajahad Habibullah

Jarawas of Andamans, one of the endangered tribes of India were in the news recently.
Their total population is estimated to be around

(A) 20 (B) 3000 (C) 400 (D) 800
Author of the famous quote “This is one small step for a Man, a giant leap for mankind”

passed away recently. Who was that famous personality ?
(A) Buzz Aldrin (B) John Lennon (C) Neil Armstrong (D) Michael Collins

This famous English novelist was a British Parliamentarian and also served a jail term.
Name him.

(A) Sidney Sheldon (B) John Grisham
(C) Jeffrey Archer (D) Frederick Forsyth

Which was the movie nominated as the official entry of India to Oscar award for the year
2013 7?

(A) Chakravyuh (B) Barfi

(C) English Vinglish (D) Gangs of Wasseypore

This book set the world record for fastest selling book, with a sale of 15 million copies in
24 hours. Name the book.

(A) Harry Potter and Half Blood Prince

(B) Harry Potter and Deathly Hallows

(C) Pride and Prejudice

(D) Harry Potter and Philosopher’s stone
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20.

21.

22.

23.

24.

25.

26.

27.

Name the Captain of Indian Women’s Cricket team.
(A) Poonam Raut (B) Jhulan Goswami
(C) Mithali Raj (D) Harman Preet Kaur

“Life of Pi”, a famous novel by Yann Martel, on an Indian boy “Piscine Molitor “Pi” Patel”
is being made into a movie by famous Hollywood director, Ang Lee. Who is the actor
playing the role of Pi ?

(A) Suraj Sharma (B) Irrfaan Khan
(C) Adil Hussain (D) Ayan Khan

Name the State with the highest ratio of females to males, as per the
Census 2011.

(A) Pondicherry (B) Kerala

(C) Tamil Nadu (D) Andhra Pradesh
India is the land of saints. The Field of study of saints is called as
(A) Spiritualism (B) Lexicography

(C) Hagiography (D) Cryptography

Identify the country that was not amongst the top three medal winners in the London
Olympics, 2012.

(A) Russia (B) China (C) USA (D) Britain
Recently, a claim has been made that the largest Uranium reserves have been discovered
in one of the States of India. Name the State.

(A) Madhya Pradesh (B) Chattisgarh
(C) Jharkhand (D) Andhra Pradesh

Name the person who is a leader of the New National Political Party to be announced
during this month.

(A) Arvind Kejriwal (B) B.S. Yeddyurappa
(C) Anna Hazare (D) General V. K. Singh

Conference of Parties (COP-11) on Biodiversity Convention was recently held in which
Indian City ?
(A) Hyderabad (B) Bangalore (C) New Delhi (D) Bhopal

Chief of International Monetary Fund is
(A) Dominique Strass Kahn
(B) Dominique Lapierrie
(C) Christine Lagarde
(D) Jim Yong Kim
©®)
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Number of National Parks in Karnataka is
(A) 3 (B) 4 (C) 5 (D) 6

Recently a popular film personality, Dada Saheb Phalke awardee popularly known as
Bard of Brahmaputra passed away. Name the celebrity.

(A) Yash Chopra (B) Dev Anand
(C) Shashi Kapur (D) Bupen Hazarika

Recently UFOs (Unidentified Flying Objects) were reported to have been found along
the border of

(A) India-China (B) India-Pakistan
(C) India-Bangladesh (D) India-Burma

Android phones have emerged as the best-selling mobile phones. One of the following
is not the operating systems, used by these phones. Identify the same:

(A) lce Cream Sandwich (B) 1OS (previously iPhone OS)
(C) Jelly Bean (D) Ginger Bread

Nanotechnology is promising to emerge as a new technology with applications in
medicine, biology, agriculture etc. A nanometer is of a meter.

(A) 1073 (B) 1076 (C) 1079 (D) 1012

In the recent Tsunami carnage in Japan, the nuclear reactor facility that bore the brunt of
Tsunami is

(A) Onagawa (B) Fugen
(C) Kashiwazaki-Kariwa (D) Fukushima Daiichi

Amongst the different Green House Gases, the Global Warming Potential (GWP) is the
highest in

(A) Methane (B) Carbon dioxide
(C) Sulphur HexaFlouride (D) Nitrous Oxide

Name the test used for detecting presence of AIDS (Acquired Immuno Deficiency
Syndrome) in human beings.

(A) Widal Test (B) ELISA Test

(C) Angiogram (D) CT Scan

A primary fuel is one that is used in the same form as it occurs in the nature. Which of the
following is not a primary fuel?

(A) Kerosene (B) Wood

(C) Coal (D) Natural Gas

®
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Aspirin is one of the common medicines used. The chemical name of Aspirin is
(A) Ranitidine (B) Niacinamide
(C) Acetyl Salicilic Acid (D) Paracetamol

The hottest planet in our Solar System is
(A) Mercury (B) Earth (C) Venus (D) Mars

The first permanent Space Station was set up in the year 1986 by
(A) United States of America

(B) Union of Soviet Socialist Republic

(C) United Kingdom

(D) Consortium of USA and United Kingdom

Pineal gland is an important endocrine gland in the human body. It is located in the
part of the human brain.

(A) Cerebrum (B) Hypothalamus
(C) Epithalamus (D) Medulla oblongata

Desert plants have a distinct photosynthetic pathway, as an adaptation mechanism for
adverse growth conditions. This pathway is called

(A) C3 Pathway (B) C4 Pathway
(C) CAM Pathway (D) None of the above

Invisible cloak was an essential part in Harry Potter’s fight against Lord Voldemort. The
artificial materials which have the property of making the light go round them rather than
reflect or refract and hence create invisibility are referred to as

(A) Nano materials
(B) Meta materials
(C) Alpha materials
(D) Gama materials

The address typed in the internet browser to locate/reach specific sites
(eg. www.google.com, is generically called as URL. URL stands for

(A) Unique Resource Locator

(

B) Universal Reference Line
(C) Unique Reference Link
)

(D) Uniform Resource Locator

(10)



LITHTER] GK

37.

38.

39.

40.

41.

42.

43.

AOBRF N GVTOIRENROT BRFMIY, ST 2,000, LAFE TRIIVT BT ?
(A) ooRERe (B) Rotmrmsy@
(C) e mIIF SAE (D) moer8ERe*

TR TR 3,08 WACIRT 1 ARFR> ?
(A) 0o (B) o (C) 23 (D) Roore

198609 Hng £pT0 03 E ©wog0s, AT (R AeBF) B3 03RE 3 m@&%ég ?
(A) oo esE Rees® iy @deos

(B) 03002007 &5 ZRe03T ZRBORT OTWT

(C) oxozede son @

(D) 3= moLsr030s" S5 IR o8 CIVFEE® 807

BRTZ BEREEO, LRV RORHOIN 2,080 0TI LOBARTT N0H. QWO [WIRTRS ITOVS 03RS
PRTOT ?

(A) AW (B =) (B) Ze@pznwmonr (035 2o

(C) zenam* (D) Somowm_ 2ot

BEBRO WIS BORST BRoTESE FITIOWN FOTFRDOOD AFNAW DT TIRCFeRET B&E,0IR
ROES (BPNF) TR0, B3 T8 030 FTFODR, DB FB030T ?

(A) C3 B&gcinmoss (B) C4 megcinmoss

(C) 20035 @88 03RTed (D) e cInPue @

RTF TSBRET F 0T TR0, FPEWT'S FEIRG, TNt FoET FoeLONOID BT LPNEY.

WD BIPOSRRYTOS WG 38,B1eg 508 tIFem) AT BRerdasod SR, Sroos SN
TEOQTINFONT) FART MY, 38 06300 ) RS ?

(A) F» Boeseoode (B) e Soesevodder,

(C) s, Boesedoder (D) m=» 0630030,

QOFE, FEF TR SLORLD oBRF© WRRCTRY LT edimEdis VR (VVTm: TRY T T . MeNer . 5o:3)
TR ABRFFVN 030 BT DS 05O FECINTYT. 030 ST & ARPTR BEAGRZTT ?

(A) 006z DR s SRFeeT

(B) cxoReEmrer Spda” &

(C) o3oRes® SxsE Do

(D) coRznar s O s cledetds

(11) [P.T.O.



GK
44

45.

46.

47.

48.

49.

50.

51.

52.

53.

In the life of a Star, after the complete conversion of Hydrogen into Helium in the core, the
remaining dense core gradually cools down. This stage is called as

(A) Protostar (B) Red Giant
(C) Black Dwarf (D) White Dwarf

Jupiter, the largest planet in our Solar System is bigger than earth by
(A) 20 times (B) 11 times (C) 9times (D) 4 times

The oldest mountain range in India are
(A) Western Ghats (B) Satpuras
(C) Aravalis (D) Himalayas

Bulk of the natural gas produced in India comes from
(A) Krishna-Godavari Basin (B) Haldia
(C) Western Off-Shore area (D) Damodar valley

Sharing of Cauvery waters has been a bone of contention between Karnataka and
Tamil Nadu. The actual release of water to Tamil Nadu from Karnataka is monitored at

(A) Krishna Raja Sagar (B) Biligondlu
(C) Mettur (D) Torekadanahally

Where is the Sea of Tranquillity ?
(A) Bermuda Traingle (B) In Pacific Ocean
(C) In Indian Ocean (D) On the Moon

Red Cross, the international Humanitarian Organisation was founded in 1864 in
(A) United Kingdom (B) India
(C) Switzerland (D) Sweden

Machu Pichu, the location of the Inca Civilisation in the Andes Region is located in
(A) Peru (B) Brazil (C) Chile (D) Argentina

Paris is located on the banks of the river
(A) Rhine (B) Vienne (C) Siene (D) Thames

Lowest place on the Earth (in relation to the Sea level), located in Israel-Jordan region is
(A) Gaza Strip (B) Jerusalem
(C) Nile valley (D) Dead Sea

(12)
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The first city in India to have electric street lights was
(A) Bangalore (B) Delhi (C) Chennai (D) Bombay

Dry hot deserts are generally found around the following latitudes
(A) 8° (B) 30° (C) 66° (D) 16°

In India, which State has the largest Inland Saline wetland ?
(A) Madhya Pradesh (B) Guijarat (C) Rajasthan (D) Haryana

In recent years, the largest private sea port was launched in India at the following place
(A) Krishnapatnam (B) Vizianagaram
(C) Paradeep (D) Mangalore

Elephant pass, a strategic military base of a neighbouring country has been frequently in
the news. Name the country in which it is located

(A) Nepal (B) Sri Lanka (C) Pakistan (D) Bangladesh

In which island of India, is an active volcano found ?
(A) Car Nicobar Island (B) Barren Island
(C) Nancowry lIsland (D) Maya Bunder Island

Asia’s first Export Processing Zone was set up in
(A) Santacruz (B) Kochin (C) Kandla (D) Surat

Percentage of votes to be polled by a Political Party to become a Recognised Party in a
State, by the Election Commission is

(A) 4 % of total votes polled

(B) 6 % of total valid votes polled
(C) 8 % of total votes polled

(D) 10 % of total votes polled

India is one of the few countries using the Electronic Voting Machines successfully in the
elections. One of the Public Sector undertakings that manufactures the EVMs is

(A) Bharat Electronics Ltd.

(B) Bharat Heavy Electricals Ltd.
(C) Bharat Dynamics Ltd.

(D) Bharat Earth Movers Ltd.

Mysore State was renamed as Karnataka in the year
(A) 1947 (B) 1956 (C) 1973 (D) 1975

(14)
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Before election to the office of President of India, Sri Pranab Mukherjee, represented the
following constituency in Loksabha

(A) Jalpaiguri (B) Midnapore
(C) Jangipur (D) Kolkotta North

Which celebrity was the first posthumous recipient of ‘Bharat Ratna’, highest civilian
award of India ?

(A) Maulana Abul Azad (B) Acharya Vinoba Bhave
(C) Rajiv Gandhi (D) Lal Bahadur Shastri

This King of Mysore, known for his most progressive developmental activities, was called
as ‘Raja Rishi’ by Mahatma Gandhi. Name him

(A) Jayachamaraja Wodeyar

(B) Chamarajendra Wodeyar

(C) Krishna Rajendra Wodeyar IV
(D) Tipu Sultan

The largest Parliamentary committee in India is
(A) Committee of Estimates

(B) Public Accounts Committee

(C) Committee on Public Undertakings

(D) Committee on Assurances

Number of official languages as per the 81" Schedule of the Constitution of India is
(A) 10 (B) 18 (C) 22 (D) 26

In 2005, Supreme Court expanded the ambit of one of the fundamental rights, to include
right to environment in its ambit. The article that was the subject of interpretation was

(A) Article 14 of Constitution
(B) Article 19 of Constitution
(C) Article 21 of Constitution
(D) Article 32 of Constitution

Which constitutional amendment provided for devolution of powers to the Panchayati raj
system ?

(A) 739 Amendment (B) 85" Amendment
(C) 839 Amendment (D) 939 Amendment

Headquarters of Reserve Bank of India is
(A) New Delhi (B) Chennai (C) Mumbai (D) Kolkota
(16)
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Agriculture and allied sectors, considered as the Primary sector, contributes around
% of GDP in India.

(A) 14 (B) 24 (C) 34 (D) 44

An expert committee on GAAR (General Anti-Avoidance Rules) constituted under the
Chairmanship of Dr. Parthasarsthi Shome by the Government of India deals with the
following

(A) Allocation of funds to the State Governments by Government

(B) Thirteenth Finance Commission

(C) Finalisation of the Goods and Service Taxation Policy (GST)

(D) Creating balance between investment in the country and protection of the tax base.

Recently one of the Cities in India introduced Green Tax on the vehicles that are not
registered in the State, but enter the city. Name the city

(A) Mumbai (B) Kanpur (C) Shimla (D) Jaipur

During 2012, three States in India issued orders banning tobacco products. Name the
State that has not banned the tobacco products so far.

(A) Bihar (B) Madhya Pradesh
(C) Kerala (D) Karnataka

The first 40 MW Solar Plant was recently commissioned in

(A) Gujarat (B) Rajasthan

(C) Karnataka (D) Madhya Pradesh

Gilt edged market means
(A) Bullion market (B) Market of pure metals
(C) Market of Government Securities (D) Market of guns

Name the Sector in the Indian economy that has attracted maximum Foreign Direct
Investment in recent years

(A) Services sector

(B) Construction activities
(C) Power sector

(D) Automobile sector

If the Cash Reserve Ratio of Banks is lowered by the RBI, its impact on the credit creation
will be to

(A) Decrease it (B) Increase it
(C) Lead to no change (D) None of these

(18)
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Which is the product of Infosys, a famous IT Company of India, widely used in the Core
Banking Operations ?

(A) Oracle Financial Services (B) Finacle
(C) Temenos (D) Fidelity National Information Service

Which dynasty issued the first gold coins in India ?

(A) Mauryas (B) Guptas (C) Sakas (D) Kushanas
Which ruler in Indian History is often referred to as Napolean of India ?

(A) Chandragupta Maurya (B) Samudra Gupta

(C) Ashoka (D) Harshavardhana

Who is the author of ‘Ashtadhyayi’, work on Sanskrit Grammar ?
(A) Pathanjali (B) Panini (C) Bharata (D) Bhavabhuthi

Battle of Haldighati was fought between Akbar and Rana Pratap Singh, in the year
(A) 1526 (B) 1556 (C) 1576 (D) 1586

Swaraj Party was formed by

(A) Motilal Nehru and CR Das

(B) Subhash Chandra Bose and Sardar Patel
(C) Jawaharlal Nehru and Rajendra Prasad
(D) Motilal Nehru and Rajendra Prasad

Who led the peasant movement during the Non Cooperation Movement ?
(A) Jawaharlal Nehru (B) Gandhiji
(C) Baba Ramachandra (D) Sardar Patel

The Resolution of ‘Poorna Swaraj’ was adopted at which session of Indian National
Congress ?

(A) Karachi Session (B) Haripur Session
(C) Lahore Session (D) Lucknow Session

Name the site where the ‘Great Bath’ of the Indus Valley Civilisation was found
(A) Mohenjodaro (B) Harappa (C) Lothal (D) Kalibangan
Name the Islamic law based on the Holy Quran, which governs the Muslim Community

(A) Jizya (B) Ulema (C) Shariat (D) Wali

Name the day on which World Forestry Day is celebrated
(A) 5t June (B) 21stMarch ~ (C) 23dMarch (D) 22" April
(20)
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100.

Tripitakas are sacred books of

(A) Budhists (B) Hindus (C) Jains (D) None of the above
The theory of Economic Drain of India during Imperial rule was formulated by

(A) Gandhiji (B) Motilal Nehru

(C) R.C.Duitt (D) Dadabhai Navroji

The Treaty of Mangalore was signed between
(A) English East India Company and Hyder Ali
(B) English East India Company and Tipu Sultan
(C) Hyder Ali and Zamorin of Calicut
)

(D) French East India Company and Tipu Sultan

Todar Mal was associated with

(A) Music (B) Literature (C) Land Revenue Reforms (D) Law
Gautama Budha’s discourses were in the following language

(A) Magadhi (B) Sanskrit (C) Nepali (D) Pali

All India Muslim League was set up under the leadership of

(A) Mohamed Ali Jinnah (B) Aga Khan

(C) Sayiid Ahmed Khan (D) None of the above

Red Fort of Delhi was built by
(A) Akbar (B) Shahajahan (C) Sher Shah (D) Jehangir

Dandi March was precursor to the following movement
(A) Home Rule Movement

(B) Quit India Movement

(C) Civil Disobedience Movement

(D) Non Co-operation Movement

The famous ruler of India, who towards the end of his life, converted to Jainism was

(A) Chandragupta Maurya (B) Ashoka

(C) Bindusara (D) Samudra Gupta

Akbar, considered as the greatest Moghul King, was born in

(A) Agra (B) Delhi (C) Umerkhot (D) Fatehpur Sikri
(22)
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KARNATAKA FOREST DEPARTMENT
RANGE FOREST OFFICERS RECRUITMENT 2012-13

ENGLISH
Time: 3 hours Maximum Marks: 100

Instructions:

1. Please keep your mobile phone and other gadgets away. Failure to do so can result in
cancellation of your candidature.

2. Please answer all the questions to the point. There are no marks for the length of answers.

3. Please answer all the questions within the answer booklet. No extra sheets will be
supplied.

PART- A
All parts are compulsory. (1 mark each questions)

Please answer the twenty questions on page 1 of the answer booklet by writing the serial of
the answer that you find to be most complete and correct.

Read the passage below and answer the 20 questions that follow:- (Total marks: 20)

Self-reliance is a sure key to success and happiness. A self-reliant person always
depends upon his own energy, capacity to work, prudence and the resources. Therefore, a
self-reliant person is master of himself and the circumstance as he does not depend on others.
Such a person is always calm, sure, confident and self-possessed. He is firm, prompt in
action and ever ready to face any challenge and fertile of resources. While others who are not
independent are surely much handicapped. It is really a slavery to depend on others for help,
guidance, aid on resources. A person is most happy and satisfied when he relies upon his
strength, power and resources.

Self-reliant people have always been found sure, self-assured, decisive, optimistic,
free, independent and bold. They do not suffer from indecision or delay. They are rich in
expediency, quick in action and steadfast in decision. Their will power is ever strong. They
are the makers and masters of their destiny. They never blame fate, circumstances or the
tools for they make their own tools and use them with greatest skill and concentration which
is at their command. Their work, their creations and achievements bear the stamp of their
personality.

Gandhiji has been a great example of self-reliance. He always depended on his inner
spiritual strength and the moral power. It was because of his unmatched power of
self-reliance that he could defeat such powerful adversaries as the British, that too, with the
weapons of non-violence, non-cooperation and satyagraha. The whole nation rallied behind
him because he was self-reliant. The strength of his character has a few parallels in the
human history. Napoleon said that the word ‘impossible’ is found in the dictionary of fools.
And he was right. A self-reliant person is always courageous, and nothing is impossible for
him. There is no substitute for self-reliance and no external help can replace it.

Questions:-

1. According to the author, in the passage, the sure key to success and happiness is
(@) Hard work (b) Self-reliance (c) dependence



2. The word ‘prudence’ in the passage means

(@ Showing thought for future (b) Skill or expertise (c) Cause strong reaction

3. A self-reliant person is always
(@) Dependant on others (b) Calmand confident (c) pessimistic and inactive.

4. A dependent person is always
(a) happy and satisfied (b) sure and self-possessed (c) handicapped and unsure.

5. A person is most satisfied when
(a) he depends on others (b) he relies on his own strength (c) he awaits others to do his work.

6. The word ‘expediency’ in the passage means
(a) means of achieving something (b) force out (c) able to sacrifice

7. The antonym of the work ‘create’ is
(a) destroy (b) build (c) protect

8. The synonym of the word ‘achieve’ is
(a) succeed in doing by effort or skill ~ (b) unpleasant in behaviour  (c) fail to do something

9. According to the author, the great example of self-reliance in the passage is
(a) Napoleon (b) Mahatma Gandbhi (c) Nelson Mandela

10. Give one word for — non-violent passive resistance
(a) non-co-operation (b) satyagraha (c) abandon

11. The whole nation rallied behind him. Here ‘him’ refers to

(a) Gandhiji (b) Napoleon (c) Jawaharlal Nehru
12. Napoleon said that the word is found in the fool’s dictionary
(a) incompetent (b) independent (c) impossible

13. It is really a slavery to depend on others for
(a) mental strength (b) physical support (c) help and resources

14. The word ‘steadfast’ in the passage means
(a) not changing in attitudes and aims (b) remain in the specified state
(c) to be useful in future.

15. A self-reliant person
(a) is ready to face any challenge (b) depends on others
(c) is always pessimistic in his views.

16. He is firm and prompt in action. Here ‘he’ refers to
(a) self-reliant person (b) depending person (c) a person seeking aid from others.

17. No external help can replace it. Here ‘it’ refers to
(a) slavery (b) handicap (c) self-reliance



18. The antonym of the word ‘strength’ is
(a) weakness (b) quality of being strong  (c) subject to pressure

19. Gandhiji always depended on
(a) others’ resources and help (b) his inner strength and moral values (c) external help

20. The word ‘substitute’ means
(a) used in place of another  (b) real and meaningful (c) include in something else.

PART-B

(to be answered on pages other than 1 of answer booklet)
Correct the following sentences:- (1x5 = 5 marks)

21. He cannot dare to come here.

22. He has finished his work, isn’t it?
23. Ram is in temper.

24. 1 do not know who are you.

25. Her tooth is paining.

Read the following passage and answer the two questions given below:-

We seek to avenge ourselves upon those who do us wrong. We may cause physical
or economic harm to our adversaries in return for the physical or economic harm they have
caused to us. As imperfect human beings, we are apt to be swayed by the feelings of revenge
for the injuries they have caused to us. But does it solve problems? The reply is a big ‘NO’.
Revenge is a kind of wild justice which never converts the heart. On the contrary, it breeds
bitterness and generates ill-will and hatred. These negative emotions form a vicious circle
from which one may not get out however one tries if one is led to avenge oneself upon others
in the above way. But there is another and the most effective method of converting our
adversary into a friend and make him see the unjustness of his action. This method is
forgiveness. The effect of revenge is temporary, the effect of forgiveness is permanent.
While the former leaves a trail of bitterness and ill-feeling, the latter paves the way for
friendship and amity. Hence it is true to say that forgiveness is the noblest revenge.

26. Give a suitable title to the above passage (2 marks)

27. Write the summary of the passage. (3 marks)

Distinguish between the following pairs of words by using them in sentences of your own
which demonstrates the difference of meanings of each word of the pair. (1x5 = 5 marks)

28. Adapt/Adopt

29. Deference / Difference
30. Elicit / licit

31. Accept /Except

32. Brake / Break



33. Choose any one of the following topics and write a letter in about 200 — 250 words.
(15 marks)

Write a letter to your friend congratulating him on his success in the IAS examination
and blessing him a bright future.

OR

Write a letter to the editor of a leading Newspaper expressing your views on the
problem of stray dogs in your area.

34. Make a precis of the following passage in about 125 words and suggest
a suitable heading. (25 marks)

It is the height of selfishness for men who fully appreciate in their own case the great
advantages of the good education, to deny these advantages to women. There is no valid
argument by which the exclusion of the female gender from the privilege of education can be
defended. It is no argument that women have their domestic duties to perform and that, if
they were educated, they would busy themselves in their books and have little time for
attending to the management of their households. Of course, it is possible for women, as it is
for men, to neglect necessary work in order to spare more time for reading sensational
novels. But women are no more liable to this temptation then men and most would be able to
do their household work all the better for being able to refresh their minds in the intervals of
leisure with a little reading. Education is very important for a woman because it involves
knowledge of the means by which health may be preserved and enables her to do many
household works successfully. She can also take care of her husband and children. Without
education she will not be averse to listen to fatal results to the advice of superstitious quacks
who pretend to work wonders by charms and magic.

But, according to a higher concept of woman’s sphere, woman ought to be something
more than a house-hold drudge. She ought to be able not merely to nurse her husband in
sickness. For this part of her duty, education is necessary. One of a mother’s highest duties
is the education of her children at the time when their mind is not amenable to instruction.
Thus an ignorant mother lays the first and strong foundation of education to the child’s
future. One all these grounds, female education is a vital necessity.

35. Write an essay on about five hundred words on any one of the
following topics:- (25) marks)

(a) The importance of time.
(b) Festivals of India.
(c) Influence of films on young people.
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(©) Benjamin Franklin was a famous American who lived about two hundred years

ago. When he was a boy, of course, he loved toys and playthings. But when he
became a man he was still interested in toys. He was always working at some
hobby or finding out something interesting.
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() This extract taken from — “Mahatma Gandhi - A Story of Our Time and for All

Time”, describes the death of Gandhiji and the consequent effect it had on the
millions in India and all over the world. Gandhiji was assassinated, over half a
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century ago; yet his spirit lives on in us. This extract should inspire you — his heirs
— to continue to take up the challenge and to follow in his footsteps and give to
the world the message of the Mahatma.
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